ST-2050 RRB CLERK (MAINS) 2020 (PRACTICE)

Passage for Question 1, 2, 3, 4, 5 (ST-2047RRBPOMAINS(36-40R)2020)
eng Passage

Study the following information carefully and answer the questions below.

Ten friends G, H, I, J, K, L, M, N, O, P are ranked 1 to 10 (Top to Bottom) in a class test but not necessarily in the same order. They all like different fruits viz.
Papaya, Strawberry, Litchi, Mango, Cherry, Watermelon, Guava, Apple, Banana and Grapes but not necessarily in the same order.

The one who likes Mango stood 1st. I scores even-numbered rank and likes Grapes. I is three ranks above the one who likes Apple. There is a gap of five ranks
between I and the one who likes Watermelon. The Sum of N and J rank is equal to M’s rank. L stood 10th and he does not like Watermelon. N has four ranks less
than P and P likes Papaya. J is not ranked 3rd and does not like Watermelon. Y likes Litchi and is even-numbered rank. One who likes Banana is ranked lower
than the one who likes Apple. One who likes Grapes is five ranks higher than the one who likes Guava. O does not like Cherry. O is four ranks above K and does
not like Apple.

hi Passage
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Q-1 How many persons are ranked between P and Y?
01. None 02. One
03. Two 04. Three
05. Four

Q-1 PR Y P < fpaq Afed FI 3P AT T2

01. PS8l 02. Th
03. Q 04. I
05. IR
Solution for Question 1 Ans Key: 2
1 J Mango
2 | Grapes
3 0 Strawberry
4 P Papaya
5 G Apple
6 Y Litchi
7 K Guava
8 N Watermelon
9 M Banana/Cherry
10 L Bananal/Cherry
hi
1 J A
2 | 301
L=

3 0 Iciadt



Q-2 If all the persons are arranged in alphabetical order from rank 1 to rank 10, position of how many persons remains unchanged?

02. One
04. Three

4 P utdiar
5 G Ja
6 Y cil<il
7 K 33wC
8 N Gl
9 M etr [ <l
10 L ool [ <l
eng
01. None
03. Two
05. Four

Q-2 IR Wi =fFmai® ¥% 1 ¥ % 10 dF qufren v & wrafRyd favar St 8, @ fasam aafaa srafafda wgd &2

01. ®Is T8l
03. a
05. IR

Solution for Question 2
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Mango

Grapes
Strawberry
Papaya

Apple

Litchi

Guava
Watermelon
Bananal/Cherry

Bananal/Cherry
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Q-3 N likes which of the following fruits?

Ans Key: 2



eng

01. Watermelon 02. Grapes
03. Cherry 04. Apple
05. Mango
Q-3 N FHH IS Ba w72
hi
01 TRES 02. 3R
03. 04. T
05. 3MH
Solution for Question 3 Ans Key: 1
eng 1 J Mango
2 | Grapes
3 0] Strawberry
4 P Papaya
5 G Apple
6 Y Litchi
T K Guava
8 N Watermelon
9 M Bananal/Cherry
10 1L Bananal/Cherry
1 J SITH
2 | k1) 8
[ =
3 0 Igiast
4 P addicr
5 G B3 (3|
6 Y cii<ht
7 K Mo
8 N di@gﬂ
9 M ol [ <l
10 L el [ Odl
Q-4 Who among the following likes Strawberry?
eng
01. | 02. G
03. p 04. O
05. Mm
Q-4 Fufufed 3 f5a wiead uvig g2
hi
01. | 02. G
03. p 04. O
05. M
Solution for Question 4 Ans Key: 4

eng 1 J

] |

Mango

Cranas



eng

3 0
4 P
5 G
6 Y
7 K
8 N
9 M
10 L
1 J
2 |
3 0
4 P
5 G
6 Y
7 K
8 N
9 M
10 i

b gt i alily . = O

Strawberry
Papaya

Apple

Litchi

Guava
Watermelon
Banana/Cherry

Banana/Cherry
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What is the sum of ranks of K and N?

01. 14

02.
04.

02.
04.

Mango
Grapes
Strawberry
Papaya
Apple

Litchi
Guava
Watermelon

Bananal/Cherry

03. 12
05. None of these
K 3R N & 3B 1 a1 22
01. 14
03. 12
05. 370 Y HIS TGl
Solution for Question 5
1 J
2 |
3 0
4 P
5 G
6 Y
7 K
8 N
9 M
10 L

Bananal/Cherry

15
10

Ans Key: 2
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5 G g
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7 K 3IWC

8 N sl

9 M ert | ddt
10 L etr [ adl

Passage for Question 6, 7, 8, 9, 10 (ST-2020 SBI CLERK (MAINS) 2018 (R) 1-5)
eng Passage

Read the following informations carefully and answer the questions given below-

Eight persons JP, YY, VK, RP, PK, SS, AK and SP live on 8 different floors in a building the Ground floor is numbered 1, the first floor is numbered 2 and so on
until the topmost floor is numbered 8.

They are like different Professions i.e., Teacher, Engineer, Lawyer, Physician, Accountant, Consultant, Surgeon and Programmer but not necessarily in the same
order.

There are four floors between PK’s floor and JP’s floor. PK lives on an odd numbered floor. JP likes Surgeon. There are two floors between YY’s and PK’s floor.
The one who likes Accountant lives on immediate above the floor on which JP lives. VK lives immediately above AK. The one who likes Teacher lives on floor
number one. There is no floor between YYs floor and SP’s floor. RP does not live immediate above or below to PK’s floor. Only one person lives between the
persons who like Surgeon and Programmer. The one who likes Engineer lives immediately above the floor on which the person who likes Accountant. SP likes
Physician but does not live below to YY. SS likes Consultant.

hi Passage

g gEseil Y ey ufeu ik e 3l T wai b I -
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Q-6 On which floor SP lives?

eng
01. Third 02. Fourth
03. Fifth 04. Sixth
05. Seventh
Q-6 frudfa@m spIEdIe?
hi
01. TRRT 02. =T
03. Uiai 04. B3I
05. rdai
Solution for Question 6 Ans Key: 3
eng +
8 VK ENGNEER

7| AK ACCOUNTANT




6| IP SURGEON
5| 5P PHYSICIAN
4| YY PROGRAMMER
3 | RP LOWYER
2|55 CONSULTANT
1|PK TEACHER
hi g
8 VK HHydl
7 AK TEPR
6 JP Huld
5 sp Rfeas
4 YY TR
3 RP ddld
Q-7 How many floors are below the floor on which AK lives?
01. Three 02. Four
03. Five 04. Six
05. Seven

Q-7  IUHNAF e fhe HfoTa § o IR AK Xga1 82

01.
03.
05.
Solution for

GIG
g
id
Question 7

8 | VK ENGNEER
7| AK ACCOUNTANT
6P SURGEON
5| sp PHYSICIAN
4|vy PROGRAMMER
a|RP LOWYER
2ss CONSULTANT
1|PK TEACHER

hi g
8 VK 2H4d
7 AK TEPHR
6 IP o
5 Sp TufeE®

02. IR
04. 3:

Ans Key: 4



44 AALAITT N

e 1
3 RP §@id
2 S5 WG

1 PK R/ ereme|

Q-8 Who among the following lives on the second floor?
eng
01. sS 02. RP
03. AK 04. VK
05. JP
Q-8 T Hfva W Fufafed # q 1 I1gar g2
hi
01. SS 02. RP
03. AK 04. VK
05. Jp
Solution for Question 8 AnsKey: 1
eng +
2 [we EMGNEER
7 | AK ACCOUNTANT
6P SURGEON
53| 5P PHYSICIAN
4| ¥Y PROGRAMMER
3 | RP LOWYER
2| ss CONSULTANT
1| ek TEACHER
5 SP THibED
4 YY YR
3 RP d&ld
2 S5 WHRiGH
1 PK Raih 3O
Q-9 Which Profession is liked by RP?
eng
01. Lawyer 02. Engineer
03. Accountant 04. Teacher
05. Programmer
Q-9 M- TI UM RP gRI UXE faam &Irelm 32
hi
01. gabid 02. 3ffPRiar
03. AEIBR 04. AR
05. TR
Solution for Question 9 Ans Key: 1



eng +

8| VK ENGNEER
7| Ak ACCOUNTANT
6| P SURGEON
5| sp PHYSICIAN
a|vy PROGRAMMER
3|rP LOWYER
2|ss CONSULTANT
1|PK TEACHER

Q-10 Which of the following is true with respect to YY?

01. YY likes Lawyer and lives on the 4th floor. 02. YY likes Engineer and lives on the 8th floor

03. YY likes Programmer and lives on the 4th  04. YY likes Accountant and lives on the 7th floor
floor

05. YY likes Teacher and lives on the 8th floor

Q-10 YY& ey H Fufafed & § oH -9 g2

01. YY,JHId TS BT g 3R AR AT 02. vy, S4fiar tie Har g, 3R 8 o At ;R IgdT B |

RIEargl
03. YY,UIMR UGG ol g, IRIAT 04, YY, AGIBR UHE HRdl 8, 3IR 7 di Hivid R gdl g
TR R I 2|
05. Yy, R Y IRiG FRaT g, R 8 o
TR R e |
Solution for Question 10 Ans Key: 3
eng 3]
8| VK ENGMEER
7| AK ACCOUNTANT
6|lIP SURGEON
5| SP PHYSICIAN
a4 | ¥y PROGRAMMER
3| RP LOWYER




2158 CONSULTANT

1| Pk [TEACHER
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7 Passage for Question 11, 12, 13, 14, 15 (ST-2050RRBCLERKMAINS(6-10R)2020)
eng Passage

Study the following information carefully and answer the question given below.

Eight person A, B, C, D, E, F, G and H are sitting around a circular table and facing towards the centre. All the persons are sitting along the circumference of the
circle at an equal distance between them. The radius (r) of the circle is 56m and the circumference of the circle is 2zr. Each of them likes different movies are
Inception, Spiderman, Jolly LLB, Dangal, Avengers, Hulk, Insidious, Mangal Pandey but not necessarily in the same orders.

G sits immediate left of H. The one who likes Dangal sits on the immediate right of C. There are only two people sit between the one who likes Spiderman and A.
The one who likes Avengers sits 88m away from the right of A. C doesn’t like Jolly LLB. The one who likes Insidious sits 88m away from the right B. A doesn’t
like Inception. The one who likes Inception is neither an immediate neighbour of the one who likes Hulk nor the one who likes Avengers. The one who likes Hulk
sits second to the right of F. F sits 88m away from the one who likes Avengers. E sits 176m away from B. E sits second to the left of the one who likes Jolly LLB.
C is neither an immediate neighbour of the one who likes Spiderman nor the one who likes Jolly LLB. The one who likes Inception sits 44m away from the one who
likes Jolly LLB.

hi Passage

fFrafafad SR &1 eaFyde sreraa w3 3i R fer me yy 13w 2|
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Q-11 Who sits second to the right of the one who likes Hulk?

eng
01. A 02. B
03. C 04. D
05. E
Q-11 T UG I 91 F &l GIRT HH 96182
hi
01. A 02. B
03. C 04. D
05. E
Solution for Question 11 Ans Key: 1
eng F
Inception N
Spiderman 45 <y Jolly LLB
? 44 H g
Hulk Avengers
D44 4 E
Insidious Mangal Pandey
44 44

Dangal



hi F
Ereie ) H
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44 44
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senfETw E
o A <=
G A WE
A
Q-12  Whatis the position of F with respect to the one likes Jolly LLB?
eng
01. Immediate right 02. Immediate Left
03. Second to the left 04. Third to the left
05. Third to the right
Q-12 S TaUas! & URig FHRA ard & ey T F bt fRUfq g2
hi
01. qHId aTe 02. qHIA T5
03. aﬂg‘ 3R T 04. Eﬂ’a‘ 3R Ry
05. T8 3R T
Solution for Question 12 Ans Key: 1
F
Inception 0
Spiderman vilB
G
Hulk ) ,{ Avengers
D
N E
Insidious Mangal Pandey
c
Dangal
A
F
g'gh«am- H
goeh G
D vsTE
serfEaw E
€ I G
A
Q-13 How many persons sits between G and the one who likes Spiderman?
eng
01. Two 02. Three
03. Four 04. Five
05. Cannot be determined
Q-13 G 3R WSS FI U 3 d1el e & s ot ofad Sad 82
hi
01. af 02. dF
03. IR 04. Ui
05. fuffed et foran o wba &
Solution for Question 13 Ans Key: 5

eng

F
Inception

Bl bl e



<plaerman JO”}' LLB
G
Hulk Avengers
D
E
Insidious Mangal Pandey
c
Dangal
A
hi F
Er=e H
PR ST T
B
oeh G
e v
sfeafeaw E
c

Q-14  Whatis the position of A with respect to H?

01. Second to the left
03. Immediate Right
0S. Second to the right

Q-14 HIFTUT AT Rfaade

02. Third to the right
04. Third to the left

01. §TE 3R GIRT 02. < SR dERT
03. THTS a3 04. TS 3R AR
05. T3 3R qEI
Solution for Question 14 Ans Key: 4
F
Incepti
nception f
Spic'.BE-rman L Jolly LLB
G
Hulk Avengers
D
/N E
Insidious Mangal Pandey
c
Danga
A
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: STl TerTerdr
B
o G
B v
sfenfraw E
c

A

Q-15 Four of the following five are alike in a certain way and hence form a group. Which one of the following does not belong to the group?

eng

01. F- Avengers
03. C-Hulk
05. D JollyLLB

Q-15 Fofafedura # 3 IR T FiEa @ T oY § 3R 39T U T4 o1 § | Fafafed § 3 &1 91 99 ¥ J&fta 781 e?

02. A- Dangal
04. E —Inception



01. F-Qdod 02.
03. C-Bh 04.

05. D - Sifcll Toreqat

Solution for Question 15

A- 3T
E-39®H

Ans Key: 2
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In each question given below, three statements are followed by three conclusions numbered I, IT and III. You have to take the given
statements to be true even if they seem to be at variance from the commonly known facts. Read the conclusions and decide which logically

follows. Give answer -

Statement:

No yellow is purple.

All purple are pink.

Only a few blue are purple.
Conclusion:

I) All pink can be blue.

IT) Some purple are pink.

III) Some purple are not blue.

01. All conclusions I, I and III follow 02.
03. Only conclusions II and III follow 04.

05. None of these

Only conclusions I and III follow

Only conclusion III follows

R few 7T yde uy §, 9 Sy feT e @ St i st 1, 11 3R 11 §RT SrgERer fhd o €1 3imueh) T T sy ) W
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e
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1) BB ST e 8
1) && ST Ad T8 g |

01. gt e [, 11 3R 11 SRV BRI 02. Pad (Y 1 3R 111 THRU B B

gl

03. Had P 11 3R 111 SRV IR &1 04. Dad by 111 STERT HRaT B

05. 378 A PIs ]

Solution for Question 16

Ans Key: 5

eng



Q-17 In each question given below, three statements are followed by three conclusions numbered I, IT and I11. You have to take the given
eng statements to be true even if they seem to be at variance from the commonly known facts. Read the conclusions and decide which logically
follows. Give answer -

Statement:

Only few Sony are JBL.

Only Phillips are noise.

All JBL are Phillips.

Conclusion:

I) All noise are Phillips.

II) Some noise being Sony is a possibility.
IIT) Some Sony are Phillips.

01. All conclusions I, IT and III follow 02. Only conclusions I and III follow
03.  Only conclusions I and III follow 04.  Only conclusion III follows

05. None of these
Q-17 Rl yds uy &, @5 &= R 71w @ St fiF fArswut 1, 1 3R 11 g1 SR {3 wra €1 eimue! faw e sy w
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DY:
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s
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01. it fepef 1, 11 3R 111 SRRV AR &1 02. Had (Y 1 7R 111 TR X 7
03. Had TP 11 3R 111 SRV A &1 04. Had Y 111 3THRT HRaAT B |

05. T8 q PIs A8
Solution for Question 17 Ans Key: 1
eng
’
hi
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Q-18

eng

Q-18

In each question given below, three statements are followed by three conclusions numbered I, IT and I11. You have to take the given
statements to be true even if they seem to be at variance from the commonly known facts. Read the conclusions and decide which logically

follows. Give answer -

Statement:

Some Delta are not Alpha.

Only a few Alpha are Beta.

No Beta is Data.

Conclusion:

I) All data can be Alpha.

IT) All Alpha being data is a possibility.
) No Beta is Delta.

01. All conclusions I, IT and 111 follow 02.

03. Only conclusions II and III follow 04.

05. None of these

Only conclusions I and III follow

Only conclusion III follows

= o e yd® uy A, di9 wy= R e @ I fi At 1, 1 3R 111 gRT SR T {5 @i €1 Sup) AT Y Ui b e
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RS Secl SThT A8 6|

DIT BB AP el g

PIg dleTSerAgig |
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1) gt SeT T Bl b g |

1) Tt 3T B ST B B U GHTGI B |
1) 1S steT STl g

01. Joff e 1, 11 TR 11 SR R B 1 02.

Had 5By 1 3R 111 3R B B |

03. Had FHHY 11 3R 11 SFFRUIGRA & | 04. HId Y 111 SIR0T BT ¢ |

05. 370 Q PIs gl
Solution for Question 18 Ans Key: 5
eng
hi
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Q-19 In each question given below, three statements are followed by three conclusions numbered L, IT and IIL. You have to take the given
eng statements to be true even if they seem to be at variance from the commonly known facts. Read the conclusions and decide which logically
follows. Give answer -

Statement:

Few future are past.

All past are present.

Only a few past are delay.

Conclusion:

I) Some delay are future.

II) Some delay not being past is a possibility.

IIT) All past can be future.
01. All conclusions I, 11 and III follow 02. Only conclusions I and III follow
03. Only conclusions II and III follow 04.  Only conclusion III follows

05. None of these
Q-19 AR yds uy # &5 sy g w8 st Fi9 et 1, 11 3R 11 gRT SgER {3 a1 Simueh! fAw U sy I
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01. Fft fsHY 1, 11 STR 111 SIERUI a8 1 02. et FH 1 7R I SFIER0I xdl & |
03. HId Y 11 3R I HTIRVIFXA 5| 04. HIA (Y 11 U HRAT 6 |
05. g7H Y Pl -T
Solution for Question 19 Ans Key: 3

no

Q-20 In each question given below, three statements are followed by three conclusions numbered I, II and III. You have to take the given
eng statements to be true even if they seem to be at variance from the commonly known facts. Read the conclusions and decide which logically
follows. Give answer -

Statement:

No Career is good.

All career are exam.

Only a few result are exam.
Conclusion:



I) Some exam are not good.

II) No good is exam.

IIT) All good can be exam.

01. All conclusions I, IT and IIT follow 02. Only conclusions I and III follow
03.  Only conclusions IT and I1I follow 04.  Only conclusion III follows

05. None of these
Q-20 i few U ud® uy B, &9 wu= Ry u 8 ot fiF fAwwt 1, 11 SR 11 gRT SR YT {5 wrd €1 ush) 3w U syl Y e
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01. Fft fspef 1, 11 3R 111 3FERUI A B102. e Fep 1 3R 111 3FERU A Bl
03. Had P 11 3R 111 TRV PA 81 04. HId (p 111 3THRUI BT 2 |
05. g9H Y PIS 8T

Solution for Question 20 Ans Key: 2

7

Passage for Question 21, 22, 23, 24, 25 (ST-2050RRBCLERKMAINS(21-25R)2020)
eng Passage

Study the following information carefully and answer the questions below:

Seven persons Kamal, Lucky, Mohan, Naman, Okesh, Parvesh and Qmar are participated in annual day competition on seven different days of a week starting
from Monday to Sunday. The competition has different games like Hockey, Volleyball, Carrom, Table Tennis, Badminton, Kho-Kho and Cricket but not in the
necessary order.

Qmar participates one of the days after Naman.

One person will be going to participate between Qmar and the one who will participate in Carrom.

Okesh does not participate in Carrom.

Parvesh neither participated in badminton nor Table tennis.

The one who will participate in Badminton participated before the one who participates in Table-Tennis.

At least two persons participated between the one who participate in Table Tennis and the one who participated in Badminton.

Naman participated on one of the days before the one who participated in Hockey. Two persons participated between Mohan and Qmar.

Neither Mohan nor Qmar like Volleyball. Qmar participates on Sunday.

The number of people who participate between Kamal and the one who participate in Hockey is the same as the number of people who participated between
Naman and the one who like Kho-Kho.

Only one person will participate between the one who will participate in Volleyball and Kho-Kho.

Three persons have participated between Kamal and Parvesh. Kamal will participate in one of the days before Parvesh.




The one who participates in Volleyball participated before the day on which Kamal participates.

hi Passage

fFraffEa SR BT WHAyd® g &2 ¥ 12 for e usi &% S &:

UfIAIfar § 4T dd € | Ufaaifar § 8T, aicliald, BH, aad -4, Sefied, @l
T % 1 ) U f ek U AT 2 |

PHHR 3R I8 Sl HYH H U AT 8, P s U Afad HIT o SR & |

Py AW F U Tei aAdi 2|

TRAY J 7 a1 SSfifed § 3R 7 &) qga-2f o ymr fermm

Seftied & I OR ard A A9d-e & W R aTe A uge YT foram T

297 A H YT OF aTat 3R SSfiies § YT R ad & S B H ¥ BH & Afgaal 3 HET e

THT 7 BT | U o1 a1a § fpadt U faT ugd | form uT1 /e 3R B#R & o9 & safdaat 3y femm

T @ Hig 3R T € HHR dlehaid UdE Bd & | HHR IAIR Bl T AT g

B 3R gleb] H HITT o aTel & it STl ebT T, THH MR W-1 1 THE P aleil ob STl W A dTel AT b1 HHT o SRIaR 8 |

areaTa B U R aTe Y S o I Uead U v R ot e 3 T R

Q-21 Who will participate in Table -Tennis?

01. Mohan 02. Kamal
03. Lucky 04. Qmar
05. Naman

Q-21 ST-F 1 H DI YT A

01. Higd 02. HHA
03. A&t 04. PR
05. 994

Solution for Question 21

-aca._  Naman Volleyball |
- Tuesday Kamal Badminton
| .‘.fednesda‘, | Okesh | Khokho

Thursaday | mohan Hockey
. ”"a Luck Carrom

Sunday Qmar Table-tennis

hi | weaw ot Tt
| guwam 3t ar-at

TR e el

FET FTehr F=
| ufEm T forire
| TREm AL Taw 2w

Q-22  On which day Mohan will participate in annual day?

eng
01. Friday 02. Saturday
03. Tuesday 04. Thursday
05. Monday

Q-22 dN® fiaw R Hig forw fom wmr &

1 afeaal HHd, dHt, HigH, TH4, m,mﬁvwﬁwﬁmwggaﬁ IS ITITE P T SeAT- 31T fet & anftfep fegaw
3R fhdpe S faft @ €, Afp amawus el g pA H|

Ans Key: 4



01. ILHAR 02. AR
03. TR 04. AR
05. HHIR
Solution for Question 22 Ans Key: 4
eng
Monday | Naman Volleyball
Tuesday | Kamal Badminton
Wednesday | Okesh Kho-kho
Thursaday | mohan Hockey
Friday Lucky Carrom
Saturday | Parvesh Cricket
Sunday Qmar Table-tennis
E wmy e arefraer
T FHT $xBiea
TR EiG -7
Q-23 How many persons will participate between Carrom and Table-tennis?
01. One 02. Two
03. Three 04. Four
05. Five
Q-23 DM 3R TA-AY & o fohan e YT Tl
0l Th 02. &
03. i 04. IR
05. U
Solution for Question 23 Ans Key: 1

Monday | Naman Volleybal
Tuesday | Kamal Badminton

Wednesday | Okesh Kho-kho

Thursaday | mohan Hockey

Friday Lucky Carmom

Saturday | Parvesh Cricket

Sunday Qrmar Table-tennis

b iroicd FqAA afeirare
HIEER FHA A=Biest
TR HER w-Er
TR A gieht
R T bz
e el firire
T FAT EEREG




Q-24  Which of the following days Lucky will participate?

eng
01. Monday 02. Tuesday
03. Friday 04. Saturday
05. None of these
Q-24 TofaRad & 9 forw faq a@t um amm
hi
01. HHAR 02. HITAIR
03. IhHaAR 04. AR
05. 99 A BIs g
Solution for Question 24 Ans Key: 3
B Monday | Naman Volleybal
Tuesday | Kemal Badminton
Wednesday | Okesh Kho-kho
Thursaday | mohan Hockey
Friday Lucky Carrom
Saturday | Parvesh Cricket
Sunday Qmar Table-tennis
HIaTT FAH P -
EACIR ' HiehReT ' or-ar
e | oy | e |
Q-25 Which of the following combination is true regarding Volleyball?
01. Volleyball held on Monday. 02. Lucky will participate in Volleyball.
03. Qmar will participate in Carrom. 04. Volleyball held on Saturday.
0§- None of these
Q-25 didisia & Tey H FAufaRad & 9 & a1 SaeH Tgt 82
01. Jrcilaiet T TS AHIR BI gl 02. Wbl alciiarel H HRT A |
03. FIR HIAH fgwr an 04. GicHETd PT TS IR BT g3l
05. 99 A B g
Solution for Question 25 Ans Key: 1

B Monday | Naman Volleyball
Tuesday | Kamal Badminton
Wednesday | Okesh Kho-kho
Thursaday | mohan Hockey
Friday Lucky Carrom
Saturday | Parvesh Cricket
Sunday Qmar Table-tennis

hi Heraw o aifar
T A $eten
T EEay @




YR R Eac)
i T firre
Tt AT EER=En]

Passage for Question 26, 27 (ST-2050RRBCLERKMAINS(26-27R)2020)
eng Passage

Study the following information carefully and answer the question given below.

Statement- If you do not take the risk in your life you cannot achieve anything. In another way you can say, not taking risk is a bigger risk. Feeling comfortable with|
status quo, holding back from challenges and not pursuing a bigger goal are the sheer reasons for a downfall. In this brisk-paced world, the only strategy that is
guaranteed to fail is not taking the risk. Cost of inaction is higher than what we can imagine.

(A) Stop thinking of outcome and don't let your eyes off your goal. It's Ok to fail! We learn from failure and gain experience helping us achieve bigger.

(B) There are no permanent jobs, you can be ousted from your seat at any moment, and not risking to be on the edge is a risky business.

(C) History establishes that we fail far more from timidity than we do from daring. Future favours the brave, dare to take the new goal. Failure is a part of every
success story and should be seen as a method for success.

(D) To explore all possibilities, to see the best part of you and to give wings to your journey, you must not deter to take the educated calculated risk.

(E) In sports, there is always a pressure to be on the top of the curve. Taking mind off the outcome makes players tough. They count on their preparation and don’t
focus on negative scenario before taking the battleground.

hi Passage

Fruafafad ser &1 YT B 3T AR feu e yy F1IW S|

qaqad- afe 3T 3= Sfia d Whe SN/ BT AT AT H3a € af 39 fHd) ot )y T8 H3 9hd €1 gt T 37 &8 gPhad &
o Tehe &1 JHAT 7 BT U 98T Wpe 2 | R & J1Y g8 Hggy &7, YWD g1 3R TS TST deh 7 WIEHAT, U &1
IRATAS SRV | 5 A6-IGTR aTdl} AT A, SRIBd 811 B TRE 37 aTelt THHTH U Hehe BT WIHAT 7 BT ¢ | ST BT THTE
Y T HUTT HI Tba & A 3w gar g1

A) TRUT & TR & a1 d¢ B 3T Ut i@l o1 3 d8d | R AN ¢ | 3% d 1 319 3! 8H SRbadl 9 Yiad 8 ofi¥ ergHa
T FRa & o g8 &8 g81 81Rid #3 § Heg et 81

(B) BYS RITH BT TET . e fdt oft Tog orueit Wie | geran o T 2, 3 o & SR = A1 Tdhe HRT Jaag 2|
(c)sﬁﬁmﬁ@m%%sqmﬁa?ﬁafwmwﬁmsﬁ?lWﬂﬂwmﬁﬁaﬁ%wu@m%a‘rwa&uﬁ%
P ferd @A 1 Bl 83 Ihadl &1 Pel-l $1 TS RET 8 3R 38 Thadl & fore ue fafy & =u & 3@ s Al
(D)qmgwmamsﬁﬁqaf}%m @ﬁmﬁ%%ﬁé&ﬁ%fmeﬁ?m:ﬁmﬁw%#%m Qe P gt uReferd
Tpe I A AP d1eu|
(E)@aﬁ,nﬁ&w@ﬁmsﬁmmmélWwﬁmwmaﬁmﬁmmﬁmﬁﬁmmélTum;&rﬁ
I A UEA 3 3T dURT TR MR B 3R TPRIAS URET R T Hd B9

Q-26 Which among the following support the given statement in favour of “who scared from outcomes”?
eng
01. A 02. B
03. C 04. Both A and C
05. None of these
Q-26 FEfifad & ¥ i ufRomdt & S gom & uer 7 faT T8 By &1 w0 Hrar g2
hi
01. A 02. B
03. C 04. GFTASR C
05. 39 I BI3 g

Solution for Question 26 Ans Key: 1

eng A Learning new skill developed new things in life. Stop thinking negative and believe in yourself. So, Only A is sufficient.

hi Y DI WG ¥ Siia H 73 ISl DT [dbTH g3 | THRIHD 1 §G DR 3R Ga R [y B | o, had ATIE B |
Q-27 Which of the following statements supports those who are not disappointed with failure and move towards new goals?

eng

Q-27

01. OnlyBandC 02. A
03. B 04. C

05. Both C and D

Al ¥ 3 &1 91 Sy 39 AN &1 FHYT BT 8 Sl SHadl ¥ FRIT TS 8 8 3R TU dedi & 3R §gd 82




01. HIAB SR C 02. A

03. B 04. C

05. C R DA
Solution for Question 27 Ans Key: 4
eng C
hi C

hi Passage

fFrafafaT sFeR &1 aryde e &% iR R R uy #13wR 3|

Passage for Question 28, 29, 30 (ST-205S0RRBCLERKMAINS(28-30R)2020)
eng Passage

Study the following information carefully and answer the question given below.

In such questions, the relationships are represented by certain specific codes or symbols such as *, +, +, - and @. The candidate is then required to analyses some
given codes to determine the relationship between a set of persons, or to express a given relationship in the coded form.

‘A*B’ means ‘A is the brother of B’
‘A+B’ means ‘B is the father of A’
‘A+B’ means ‘A is the sister of B’
‘A-B’ means ‘A is the mother of B’
‘A@B’ means ‘A is the husband of B’

T8 Uyt A, Redi o) 3 IRy Sist an uediep] o 1 #, -, +, -, 3R @ SM1fe gRT &Rfa1 S 8 | SHiIGaR P dd Afaadl & Ye & srg daey Reffa

P & o BB AT T P BT fawwr B33 Ft Il gt 7, U1 fopeft fau U Yey ol Hifsd TU H ad BT

A*B BTIHTTABBIHE S
'A=B'®13f g B'A BT AT
‘A+B' BT 'A,BHI T55 "
‘A-B' BT3RS g A BHIHATT"

‘A@B ' BT I g A, BHTURAE

(Q-28  Which of the following means ‘P is the sister-in-law Q2
01. M-K@Q+P*L 02. K-Q+L@P+M
03. M=L@P+Q@K 04. K+Q-P@M*L
05. None of these
Q-28 fufufaa & ¥ fowemr arf g 'p, @ @t amft 82
0. M—K@Q+P*L 02. K-Q+L@P+M
03. M=L@P+Q@K 04. K=Q-P@M*L
05. T8 q PIs g
Solution for Question 28 Ans Key: 2
eng -
K
I_ <+ -
hi

Q-29

Which of the following is true if the expression is ‘O + Q @ M +L- J*?


mailto:‘A@B’
mailto:‘A@B

eng

01. O is the son of M. 02. ] is the brother of O.
03. M is the aunt of J. 04. Qs father-in-law of J
05. None of these

Q-29 3R e 0+ Q@M +L- 1 8, @ Fafifea & ¥ s wr aeh 82

0L O,MBTYARI 02. J,0PBTHE I
03. M, ] & A g 04. QBT S
05. 3TH Y PIS g
Solution for Question 29 Ans Key: 3
eng +
0 J
hi
+ - o
Q=M —i.
0 J
Q-30 In the given expression is ‘I +J@ K- Q — E” how is E related to J?
01. Mother 02. Grandmother
03. Mother-in-law 04. Sister
05. None of these
Q-30 <R afiaafdd + J@ K- Q- B’ E, J ¥ fd YR Hafia g7
01. A7 02. T
03. /g 04. §&T
05. 390 A DI g
Solution for Question 30 Ans Key: 5
A’
| — K
Q—
E
hi
- 4
| — K"
Q—
E

Passage for Question 31, 32, 33, 34, 35 (ST-2050RRBCLERKMAINS(31-35R)2020)

eng Passage

Study the following information carefully and answer the question given below.



Twelve persons A, B, C, D, E, F,P,Q, R, S, T and U are sitting in two parallel rows with equidistance from each other but not necessarily in the same order. In
Row-1,P,Q,R, S, T and U are sitting and all of them are facing south and in Row-2, A, B, C, D, E and F are sitting and all of them are facing north but not
necessary in the same order.

U faces one of the immediate neighbours of B. T sits one of the places to the right of Q. Only two persons are sitting between E and C. C is not an immediate
neighbour of D. As many persons sitting to the right of E is same as the number of persons sitting to the right of R and neither of them sits at the extreme ends of the
rows. R does not face B. T sits second to the left of the one who faces A and either one of them sits at the extreme end of the row. Only two persons are sitting
between A and B. F faces the person who sits to the immediate right of P.

hi Passage

fFrafafad TR &1 eaFyd® sreraa w3 3 R fRr me uy w13wR S|

§Rg AfAd A, B, C, D, E, F, P, C%R, S, T 3R U & THMIR Ufdadl § Ueh-g¥R ¥ THM gl IR 98 § fs et g1 o6 U g1 v | g1 ufdk -1
ﬁP,Q,R%TSﬁ?U ' goft cfeor ot 3R SR Tfadd 2 H A, B, C, D, E 3R F &3 & 3R 3 il G151 I} & IR Afe I8 pH |

BIS 1t Ufdqai & st SR WAET961 21 R B
& A TR T, A BT U 38 AfR & 9 @gg%ﬂ%%ﬁ@ﬁﬁﬁ%mﬁ% ifH ©R X937 81 A 3R B P oid Had &) i

7

Q-31 Four of the following five are alike in a certain way so form a group. Which one of the following does not belong to the group?

01. s 02. Q
03. A 04. D
05. E

Q-31 FEfifed uia# 9 IR te Mia R ¥ T ol § 39l Ue g s 5 | Fafafed & 9 o 91 99g 3 eitd 981 52

01. s 02. Q
03. A 04. D
05. E
Solution for Question 31 Ans Key: 5

S R T . Q

Q-32  How many persons are sitting between S and U?

eng
01. One 02. Two
03. Three 04. Four
05. Five

Q-32 S IRUP i fha A o8 g2

hi
01. TP 02.



05. Tig

Solution for Question 32

eng

Q-33

What is the position of Q with respect to T?

01. Second to the right 02. Third to the left
03. Third to the right 04. Fourth to the right
05. None of these

TE Ay H Q 31 Rufa w82

01. Tt 3R gERT 02. T8 3R fRRT
03. g SR A 04. TS 3R TR
05. 399 ¥ BIS g

Solution for Question 33

Q-34

eng

What is the position of F with respect to E?

01. Second to the right 02. Second to the left
03. Third to the right 04. Third to the left
05. None of these

E% Ty F ot R 3 g2

Ans Key: 3

Ans Key: 2



01. T 3R & 02. 5 3R G

03. T 3R R 04. TS SR AT

05. 90 q DI 1G]
Solution for Question 34 Ans Key: 2
= | | |

S R T P U Q

A C F B E D
Q-35 Who among the following sits at the extreme end of the line?
01. p 02. F
03. C 04. A

05. R
Q-35 Fufafed ® ¥ o dfad & sifdr eR R aaarg?

01. p 02. F
03. C 04. A
05. R
Solution for Question 35 Ans Key: 4

Passage for Question 36, 37, 38 (ST-2050RRBCLERKMAINS(36-38R)2020)
eng Passage

Study the following information carefully and answer the question given below.

Eight people P, Q, R, S, T, U, V and W are standing in such a way the T is 30m away from V in the north direction, V is 30m east away from the person P. P is 15
m north with respect to R. W is 20m in south direction from the person Q. V is 30 m away from the person S in west direction. U is 25m towards the south




direction with respect to S. W is 30m west with respect of R.

hi Passage

fFraferfEa SR 1 Wyds srerad ¥ X 12 for e uy H13wR &1

313 AT P, R,s,T,U,V@?W@ﬂ?‘s’@r@@%%nvﬁwﬁmﬁ30%%\/6&%[@%‘%%0%@%P,Ré?ﬂv—c{ﬁﬁls
Ay IR A G| W AT Q I gférr femn & 20 e g B | v aafad s Y ufdm fe=n & 30 MR R8I U, s & T | 25 e gl fezn a6t
3RBIW,RP TS 7 30 M uffm A 8|

Q-36 What is the direction of W with respect to S?
eng

01. South 02. South-west
03. North-west 04. South-east

05. None of these
Q-36 ST ISYHw B! gz a2

hi
01. Gfgor 02. Gfaor-gfgm
03. IW U\ 04. qfaorgd
05. 398 Y BIs 8!
Solution for Question 36 Ans Key: 2
T
30m
Q
30m 30m S
P
20m v
15m 25m
W R
30m
U
T
30m
Q
30m 30m 5
P
20m ¥
15m 25m
W R
30m
U

Q-37 What is the shortest distance between U and R?
eng

01. 100m 02. 50m
03. 75m 04. 80m
05. None of these

Q-37 USRRF s a9 SIS g 82

hi
01. 100 Hie? 02. 50 Hie?
03. 75HieR 04. 80 Hic?
05. 6 § BPIS e
Solution for Question 37 Ans Key: 5
eng T
30m



30m 30m s
P
20m v
15m 25m
w R
30m
hi T
30m
Q
P
20m
15m 25m
w R
30m

Q-38  How far and in which direction is U with respect to V(approximately)?

ano

01. South-east, 39m
03. West, 20m
05. North-east, 15m

02. North, 30m
04. North-east, 35m

Q-38 V& I§Y H U (@ TH) fhat R iR frw e o g2

01. faorgd, 30 i
03. Tfgw, 20 Wt
05. IR-gd, 15 1t

Solution for Question 38

30m

30m

02. 3R, 30 H
04. ITR-T, 35 7Y

30m

30m

25m

Q
30m
p
20m
15m
W R
30m
hi
Q
30m
P
20m
15m
w R
30m

25m

Ans Key: 1

eng Passage

question.

hi Passage

Passage for Question 39, 40 (ST-205S0RRBCLERKMAINS(39-40R)2020)

Each of the questions below consists of a question and two statements. You have to decide whether the data given in the statement are sufficient to answer the

e U U U Uy H U UY 3R G HYUT B | 3MUD! T8 I 1 81 fob pU= H faU U ST Uy & IR 24 & forw vl € ar =g




Q-39 Who among A, B, C, D, E and F is the smallest?
eng
I) D is shorter than A, but taller than C and B.
II) Only one person smaller than C and only three persons are taller than B. A is taller than D but smaller than F and E.

01. Ifthe data in Statement I are sufficient. 02. Ifthe data in Statement II are sufficient.
03. If either the data in Statement I or Il is 04. Ifthe data of both statements together are not sufficient to answer the question.
sufficient.

05. If the data of both statements together are
sufficient to answer the question.

Q-39 A,B,C,D,E 3R FAY PN I BleTd?

" DAY BT ?, AfpT C SR BI AR
1) $ad U Afad C W BIeT § 3R B B Jo-1 H ad oI Afdd T &1 A, DY TaT 8 A F SIREY Bler g
01. X HYT 1 H SeTUaid g1 02. Ife HY= 11 H ST v g
03. gRTAFYT TN H ST 04. T TH WY I HYHI b ST U BT IR a1 & o gafd gl 2|
05. i TH T T HYU] P Sl U BT
IR & i mafa gl
Solution for Question 39 Ans Key: 2
F/E
F/E
A
B
=
D
F/E
F/E
A
B
=
D

Q-40 How is O related to J?

[) M is the son of R, who is the husband of Q. A is the mother-in-law of R.
IT) J is married to K. H is the brother of L who is the only daughter of O.

01. Ifthe data in Statement I are sufficient. 02. Ifthe data in Statement II are sufficient.
03. If either the data in Statement I or Il is 04. Ifthe data of both statements together are not sufficient to answer the question.
sufficient.

05. If the data of both statements together are
sufficient to answer the question.

Q-40 0,J 3 frayeR wafta 32

. DM,RETYAE, ST Q HTUMEI A, RPI I3

1) J &1 faag K A §3N 8| H, L HT HTS § S O B! THHE 91 3|

01. e HYT1H SeTyaid g1 02. Ife HY=T 11 H ST e g

03. R NFYTITUH ST TR  04. T TP 1Y G YT P 32T U BT IR o1 & fod Tad gl g |

05. TS T 1Y G HYHT b ST UY BT

IR o & forg v g

Solution for Question 40 Ans Key: 4
eng I) A— "'

A
0



I!ﬂ-l- H-'-_E..
5 1) i\‘ )
"ﬁ=q‘ J==K
0
it H-I-_L..

eng Passage

Passage for Question 41, 42, 43, 44, 45 (ST-275CRPBCLPRE(6-10M)2020)

The following table shows the details of the various parameters (Cost Price/Marked Price/Selling Price/Mark Up/Discount/Profit) of the three
different articles Toothpaste, Wiper and Bathing Soap by a shopkeeper.(All the price depicted are the per article).

Article Cost Mark Up Marked Discount Selling Profit %
Price (In %% Price (In %% Price (In
Rs.) Rs.) Rs.)
Toothpaste - 10 - 12
Wiper 150 - .- 10 i)
Bathing Soap -- 20 - 12 84.48 -

hi Passage

Frafafaa aroft & 05 fafis sxgait cytve, asw Sk Tem s1919A & fafis gest (va e sifea gea/faswa gea/qerar man gay
Fe/arH) P S=0ar 74T 8.C@R1f T IR ged ufd axg B).

(Rs. T) % (Rs. ) (Rs. )
T - 10 - 12
TR 150 = 2 10 3.5
TEH AR | - 20 12 84.48 g

Q-41 At what percentage should he mark the Wiper up to get the required percentage profit?

01. 10%
03. 15%
05. 15.25%

02. 20%
04. 5%

Q-41 iy oY Uf=rd U A & folg 98 AW &1 foha=1 ufa=id Seiahs 392

01. 10%
03. 15%
05. 15.25%

02. 20%
04. 5%

Solution for Question 41 —
e“g 10x ..
Required answer ="~ 10— o0 3.5
= x=15%
B 10x

Mgﬂ'gw:x—lﬂ—m =3

= x=15%

Ln

Q-42 The discount given by the shopkeeper on the purchase of the Toothpaste to the customer is Rs.4.40; find at what price did the shopkeeper bought the

eng Toothpaste.



01. Rs.50
03. Rs.45
05. Rs.52

02. Rs.50.60
04. Rs.48

Q-42 YU WG TR GHMGER GRI UGS PI &I O dTell BE 4.40 F. BT ol ATSY GHMER - YU DI fovat & @iar U

01. Rs.50

03. Rs.45

05. Rs.52
Solution for Question 42

02. Rs.50.60
04. Rs.48

Ans Key: 1

B 1 LW
100
s x=8%
440
%

CP:iix@:EO
110

MP = %100% =55

hi 10x

10-—x— =12
100

= x= 8%

Q-43 Suppose the shopkeeper changed his mind to allow a discount of 10% on the bathing soap instead of 12%; then at what percentage above the cost price

should he mark it up to decide the marked price in order to maintain his profit percentage the same?

01. 17.33%
03. 15.33%
05. 15%

43 AR IT/H &
N ngﬁhﬁmm

01. 17.33%

03. 15.33%

05. 15%
Solution for Question 43

A o 2012 i el
L —L&— = X—d——

100 100

::»15_6:&
10

= x=1733%

02. 16.67%
04. 16.33%

TR 12% P1 ST 10% DI BE o BT H &1 ford1 BT all Ja1sy I $d Jed UR fova1 Ufa=Id dera

ITDT A Uf=Id THT 512

02. 16.67%
04. 16.33%

Ans Key: 1

hi g 2 -
e L i B
100 100
=156=%
10

—x=1733%

Q-44 A customer bought 5 wipers from the shopkeeper; find the total profit earned by the shopkeeper by selling the wipers.

eng

01. Rs.25.26
03. Rs.25.2
05. Rs.24.25

Q-44 TH UEH - HMGR ¥ 5 TRW TIe; AW I 991 R GHMER gRI Hold Tl Ay TT=Td J1d Hifor?

hi

01. Rs.25.26

02. Rs.24.26
04. Rs.26.25

02. Rs.24.26



03. Rs.25.2 04. Rs.26.25
05. Rs.24.25
Solution for Question 44 Ans Key: 4

eng Required answer = 150x 2= . 5= 26.25
100

B Y IR = ﬁox%‘st::a_zs

Q-45 Find the respective ratio of the cost price and the marked price of one Bathing soap.

eng
01. 65 02. 59
03. 45 04. 56
05. 3:5
Q-45 8 & Ud UIGH & Hd Yoo ad ifohd T T HHRT: ST J1d Diford.
hi
01. 6:5 02. 59
03. 45 04. 56
05. 3:5
Solution for Question 45 Ans Key: 4

Required answer= 100:120 = 5:6

HUTY STR=100:120 = 5:6

Passage for Question 46, 47, 48, 49 (ST-29RRBPOPRE(27-29M)2020)
eng Passage

Study the following information carefully and answer the following questions
There are four bags those contains red blue and white coloured balls .

* There are 50 red balls in bag 2 and total number of blue and white balls in Bag 2 is 50. Number of white balls in bag 2 are 10 more than the number of blue balls
in bag 2.

* Total number of red balls in bag 1 is equal to the total number of blue balls in bag 2 and total number of blue balls in bag! is equal to total number of white balls in
bag 2. total number of balls in bag 1 is 90

» Total number of blue balls in bag 3 is equal to total number of white balls in bag 1 and total number of white balls in Bag3 is equal to total number of blue balls in
bag 1. Total number of balls in bag 3 is 80.

hi Passage

el SR 1 Wryde g % i Frafalad usi® S e
IR ST 8 FoFH o i SR B W 1S g
< S 2H 50 A NS § R N 2 H I 3R T Al Bl 5 T-AT 50 81 977 2 T b Tef bt WA a1 2 FI Al gl bt F=r 10 SfAF 2|
| H o1 TG ) e e T 2 B i Q1 ) o TN B SRTER § IR A 1 H A et Y et TRem A 2 § e et 9} e S &
W%I%‘Tlﬁﬁﬁﬂ%ﬁm%%
S 3 H AN P I TSNS 1 W TPE Gl B et TS P R 2 SR A 3 H g A F ad gen S 1 A A A Faa gen d

w%@mﬁﬁa’faﬁwmso%
7 4 B el T T Y S T B A § OTR 4 4 B A ) and G T 1 F ot oIk g el gen s a1

Q-46 1 10 balls from bag1 are replaced by 10 red balls and 10 balls from bag?2 are replaced by 10 blue balls, then what is the difference between maximum

eng probability of getting a red balls from bagl and that of getting a blue ball from bag2?
01. 1/30 02. 1/15
03. 1/20 04. 2/57
05. 3/34

Q-46 3R ST 1Y 107Iei Y 10 A Nel § dea [T o § 3R 72 F 10 e bl 10 ek NS gadt fear Sar &, @V & 1 J a1t el ) v
hi PR DI UG FUTGT 3R T 2 I T it 71 UIed e § 7 3R 82



01. 1/30 02. 1/15
03. 1/20 04. 2/57
05. 3/34
Solution for Question 46 Ans Key: 1
eng . Bags RED BLUE WHITE TOTAL
BAG1 20 30 40 20
BAG2 50 20 30 100
BAG3 40 10 30 80
BAGH4 20 20 20 60
After replacement of balls
P(max 1 red from bag 1) - P(max 1 blue from bag 2)
30 ¢, 30 ¢
=50 c, 0 c,
-
310
~30
a1 20 30 40 90
12 50 20 30 100
a7 3 40 10 30 80
=17 4 20 20 20 60
Tial o YIaRITI b 8l
P (ST 1 T 3AfAHAH 1 A1) - P (ST 2 T 3if¥pad 1 e
) 30 ¢, i ,
TR c, B £y
| 4
3 10
1
30
Q-47 If 40 blue balls are added to bag 4 and 2 balls picked at random, then what is the probability of getting at least one out of 2 balls is blue?
01. 139 02. 173
185 165
03. 137 04. 139
165 165
05. 203
165
Q-47 IS4 40 Teft 71 SIS It § iR 2 TS ) Arefass U Y Adrar S g, df 2 1S H S 0 Y HH TS S a1 g Bt JUIE1 1
hi ?

01. 139

03. 137

05. 203
163

Solution for Question 47

02.

04.

L

L |

Ans Key: 4

eng

Probability =

4
&,




165
hi UMl ehdl =
40
— s __m‘?:
W
_ 40x39
100x99
139
165
Q-48 If 10 white balls are added to bag 3 and 3 balls are picked each from bagl and bag3, then what is the ratio of probability of getting all 3 blue balls from
eng bagl to the probability of getting all 3 white balls from bag 3?
01. 203 02. 203
494 494
03. 201 04. 200
404 493
05. 207
Q-48 TR T3 H 10 Wha 7S SIS S § R 9 1 R 973 H A U # 371 Feprefl ot &, AT 1 9 Tt F et i wd 3 A @it 3

The NGl Bl U B Bt UTRIddT BT SUTd 31 87

01. 205 02. 03
194 194
03. 201 04. 200
194 495
05. 207
Solution for Question 48 Ans Key: 2
Ratio =
e 0 203
194
203
494

Solution for Question 49

Sourav spent 40% of his monthly income on study, and 60% of remaining on rent. Out of remaining money, 75% is spent on travelling and 20% of the rest
on gambling. If he saves Rs600, then find his monthly income?

01. 12000 02. 12500
03. 13000 04. 13500
05. 13250

TRa Y U HTRID 3T BT 40% 37T TR, 3R 60% AW fH=10 IR G faam | D o7 T 9, 75% 61 IR W o Sran € 3R 29 20% W
R W a1 o1 8 | TfE 98 3 600 B I9d HRAT 8, Al STB! AT 3T 1T B2

01. 12000 02. 12500
03. 13000 04. 13500
05. 13250

Ans Key: 2

eng

Total = 100%

Study

40% 60%
60% 40%

remaining

Rent (36%) remaining (24%)



Travelling (18%)

Gambling (20%)

rema_iu_ing (6%a)

rem (80%) =6 x 80% =600

100% = 12500
FA= 100%
AT EE|
40% 60%

60% 40%

TR (36%) I (24%)

AT (18%) J I (6%)
T (20%) ' 319 (80%) = 6 x 80% = 600

100% = 12500

7 Passage for Question 50, 51 (ST-29RRBPOPRE(34-35M)2020)
eng Passage

The information given below is the investment of three Venture capitalists in a partnership for the period of 2016 — 2020.

The investments made by an individual are for the same period. The investment of Vikram in 2016 is Rs. 40000 and is equal is to the investment of Chandan in
2018. The total investment in 2019 is Rs. 24000 and the ratio of investments of Arjun, Vikram and Chandan is 8 : 9 : 7 respectively. The investments of Arjun in
2016, 2017 and 2018 are Rs. 32000, Rs. 48000 and Rs. 44000 respectively. The investment of Chandan in 2016 and 2017 are same i.e. Rs. 22000. The
investment of Vikram in 2018 is Rs. 6000 more than the investment by him in 2017 i.e. Rs. 30000.

hi Passage

1R & 7 FERY 2016 - 2020 P A F forw vH AR A FF IR Pl w1 @ gl
Tt safad gRT foran o fawr St orafd & fw i 81 2016 T fashd &7 Fa=1 % 40000 § 3R 2018 H TeA & a1 & SRISR 812019 H FHa

A= 24000 3R 31, fash A 3R T & <1 HT SFUT HHRT: 8: 9: 7812016, 2017 3R 2018 H

IS &b AR HH: T 32000, T 48000 3R T

440001 2016 3R 2017 H Te=T T AW TAM 8 THTF 22000. 2018 H faH o1 59 2017 & I8 gRT T T FE= A 6000 3115 T F 30000.

Find the share of profit earned by Vikram in the year 2018, if the total profit in 2018 is Rs. 15000?

Q-50
eng

01. 4520 02. 4530

03. 4500 04. 4567

05. 4580
Q-50 2018 T fasmH gR 3ol oy o fewam Fd &%, A 2018 & T &Y 15000 F 82
hi

01. 4520 02. 4530

03. 4500 04. 4567

05. 4580
Solution for Question 50 Ans Key: 3
eng ARJUN VIKRAM CHANDAN

44000 36000 : 40000

11 : 9 : 10
VIKRAM’ share =%’<15““”
= 4500

hi 31\_{]?[ fad EC

44000 36000 : 40000

11 : 9 : 10
fapa o1 %WT =% %15000
— 4500

Q-51

If the share of profit of Chandan in 2016 and 2017 is Rs 7700 and Rs 8800 respectively, find the ratio of profit of Arjun in 2016 to that in 2017 ?



eng

01. 7:12 02. 12:7
03. 19:7 04. 7:19
05. 12:5

Q-51  3f 2016 3R 2017 & deA & Y T fFTT HH: 7700 TUD 3R 8800 TUL B, A 2016 T 351 & M T 30T 2017 & 1 IO

01. 7:12 02. 127
03. 19:7 04. 7:19
05. 12:5

Solution for Question 51

eng Investment
Arjun chandan
2016 32000 22000
2017 48000 22000
32000 x
22000 7700
x=11200

— 1070

Ratio = 11200: 19200

=712
i Ia < .
2016 32000 22000

2017 48000 22000

U = 11200: 19200

=7:12
Q-52 Find the wrong number in the following number series-
19 35 134 792 1532
01. 35 02. 134
03. 19 04. 1532

05. 792
Q-52 9 H& of@an ¥ Tad Ug 1A PHifor-

19 35 134 792 1532

01. 35 02. 134
03. 19 04. 1532
05. 792

Solution for Question 52

eng 19 35 134 792 6312
x2-3 x4-6 x6-12 x8-24

hi 19 35 134 792 6312
x2-3 x4-6 x6-12 x8-24

Q-53  Find the wrong number in the following number series-

eng
726 766 675 832 594

profit

NI

chandan
7700
8800

7700
8800

Ans Key: 1

Ans Key: 4



01. 726 02. 832

03. 675 04. 594
05. 766
Q-53 iy dwu s | Terd ug Jrd Hiford-
hi
726 766 675 832 594
01. 726 02. 832
03. 675 04. 594
05. 766
Solution for Question 53 Ans Key: 3
eng 726 766 678 832 594
+5%8 -8x11 +11x14 -14x17
hi 726 766 678 832 594
+5%8 -8x11 +11x14 -14x17
Q-54  Find the wrong number in the following number series-
eng
13 71 212 1682 10154
01. 71 02. 13
03. 1682 04. 212
05. 10154
Q-54 -9 ST ol H Terd Ug Jid Hiford-
13 71 212 1682 10154
01. 71 02. 13
03. 1682 04. 212
05. 10154
Solution for Question 54 Ans Key: 4
13 71 326 1682 10154
x3+32 x4+42 x5+52 X6+62
13 71 326 1682 10154
x 3132 w4+42 w 5+52 ¥ 6162
Q-55 Two equilateral triangles and two parallelogram are cut down from a hexagon. If area of one equilateral triangle is 4v3 cm2 then find the height of
parallelogram?
01. 4\]3 cm 02. \/3 cm
03. 2V3cm 04. 3\3cm
05. 8V3cm '
Q-55 T gHaTg B 3R & GHIR IgHT T YTUS ¥ FIC I 3 | Afe e THaTg Iy BT 8Fd 443 cm2 § A SHIGR IgHsl ST $HdTs 1d
hi HITL?
01 43 3t 02. 33l
03. 2v3 9=t 04. 33 9Ht
05. 83 gt
Solution for Question 55 Ans Key: 3
eng Area of hexagon = area of 6 equilateral triangles = area of 3 parallelogram = area of 2 equilateral triangle + area of 2 parallelogram.

Here area of equilateral triangle = 4V 3 cm®
3 "

so, % (stde)ii4\/§

So side will be 4

So, area of parallelogram = side X ht.

sv3=4X bt



Soh=2‘\/§cm.
hi UGl BT 8 = 6 THETg YT BT e = 3 HIAR TGSl BT S = 2 THETg AYS &7 8 d +2 FHIR IgYsl BT &b

AT Pt et = 4v/ 3 A
a2 ()2 =4V/3

T T 4 TRIT

3T Ui IgH 1 &% = 4o X F90
8V3 = 4x I

Hd: h=2\f§ﬁ7ﬁ

Q-56 Work done by A, B, C and D is in arithmetic progression. C,Worked for 9 days and completed 30% work. A and B worked for 2 days and 3 days only.
eng Find for how many days 'D' work to complete the remaining work if all four together can complete that work in 4 days.

01. 12 days 02. 10 days
03. 6 days 04. None of these
05. 4 days

Q-56 A, B, C 3R DRI a1 T & wH=aR 401 & B 1C, 9 &1 3 1w 79 faam $iR 30% S8 qR1 fsdml A iR B 2 fe ok 3 fea v
far) D Ay H B R A F e fbam &A1 wm Fvar g afe ot vy ek Su arf &1 4 G 8 R 9ehd €1

01. 12fa9 02. 10fe
03. ¢fe 04. TTH A PIS a1l
05. 4feq
Solution for Question 56 Ans Key: 5

Let A, B C and D completed (a-2d)% , (a-d)% , a% and (a + d)% work
So 4a—2d =100%
But a =30% so d = 10%
So A will complete whole work in 20 days
B will complete the whole work in 15 days
C will complete the whole wok in 30 days
Let D will alone complete the work in d days then
4/20 +4/15 + 4/30 + 4/d = 1
We getd=10
So D will complete100% work in 10 days
So 40% of work will be done in 4 days

b AHTA, B CAUTD A (a-2d)% , (a-d)% , a% AT (a + d)% BIT QT bl
3{d: 42— 2d = 100%
T a = 30% 31ck d = 10%
3fct: A 20 a1 & O Hrd 1 R
B 15 f&1 & Ox1 SR Q1
C 30 G 8 QR il QR Hem
T D 3fbd d fa=1 T H1E o
4120 + 4/15 + 4/30 + 4/d = 1
BHUT BRI d =10
3fct: D 100% 1 10 &1 & Q1 v
3{:40% B 4 fe1 H fawa ST



Q-57

Shantanu bought some eggs at Rs.10 each. Out of these, some are rotten and some are fresh. He sold fresh eggs at 50% profit and rotten eggs at 20%

eng loss. In total he earns 8% profit. Find the probability of selecting one fresh egg from total eggs.
01. 1/9 02. 12
03. 4/5 04. 3/5
05. 2/5
Q-57 AT EHS 348 10 ¥ H W | 90 A 3 IS §U R 3R B3 Ao 6| wﬁso%wuﬁm@raéah?m%sﬁuwégq&@éﬁl Ha o
hi B 8% Y BHIAI € | el ST A A TP Il 348 o TG+ ] GuIaH el
01. 1/9 02. 112
03. 4/5 04. 3/5
05. 2/5
Solution for Question 57 Ans Key: 5
eng +50% -20%
+8%
28 42
Hence ratio = 2:3
Hence required probability = 2/5
hi +50% -20%
+8%
28 42
ELS) %’IQ 2:3
ST 31T UTiehdT=2/5
Q-58 profit earn after selling an article in Rs. 850 is 12.5% less than the loss incurred after that article in Rs. 400. If shopkeeper wants to earn 6.66% profit in this
business then at what price he must sell the article?
01. 640 02. 681.6
03. 680 04. 780
05. 785
Q-58 850 FUY T UH kG ST P TG AIH I TG BT 400 TTA H g4 TR §U TH I &1 qa-T B 12.5% A 8 | Tl PR 39 Faqg o
6.66% T ST HIAT AAT 8, 1 3W [ Hod IR oG STl AN T?
01. 640 02. 681.6
03. 680 04. 780
05. 785
Solution for Question 58 Ans Key: 2
Margin between both selling price = 850 — 400 = 450
Profit = (7/15)x450 =210
CP=2850-210=640
SP = 640 x(16/15) = 681.6
hi GH! fosh! Hed & STd A1 = 850 — 400 = 450
Y = (7/15)x450 = 210
CP=850-210=640
SP = 640 x(16/15) = 681.6
Q-39 Train A travelling at 90 kmph overtake train B traveliing in same direction in 10 seconds. Had train B travelled twice of its speed, than train A would have
eng taken 25 seconds to overtake it. Find the length of train B (in meter) given that its length is 60% of the length of train A.
01. 150 meter 02. 70 meter
03. 140 meter 04. 75 meter
05. 210 meter
Q-59 90 ol /aue & 1e A o1 X < A I A= T S G S B BT 10 YHUS H UR FHret 5 u%éwaﬁamaﬁﬁmaﬁmﬁa‘rw A,
hi STB P25 APUS & UR 1 8| o B ) TS 91z (Hiex H) Al 3! dvaTs o A I el Y 60 TR ©-

150 Hiex 02. 70 Hix
140 TR 04. 75HteR



0s. 2101:1 c¥

Solution for Question 59

Ans Key: 5

eng

let length be 5x and 3x respectively

(5x + 3x)/(90-v) = 10
(5x + 3x)/(90- 2v) = 25
x=70; v=34

3x =210

T TR R 5x AUT3x §
(5x + 3x)/(90-v) = 10

(5% + 3x)/(90- 2v) = 25

x=70; v=34

3x =210

Passage for Question 60, 61, 62, 63, 64 (ST-48 SBI(106-110))
eng Passage

In each of the following questions is followed by three statements study the question and the statements and decide the information given in which of the statement(s)
is/are necessary to answer the question ?

hi Passage

IR U U H U 3R ITB 918 dIF BT H THBRI <1 TS @1 3T UY 3R HYUHT T 3T DI 3R T8 70 HIfor {6 i 91/ wu=i H <
118 SR U T IR o & o ATIRAH 878 2

Q-60

Q-60

What is the speed of the train?

I.  Length of the train is 300 meters.
II. The train crosses a platform of equal length in 54 sec.
III. The train crosses a signal pole in 18 sec.

01. OnlylandII 02. Only II and 1T

03. Only I and (either II or III) 04. Any two of the three
05. None of these

IS B AT RS 2

L S ol TS 300 1 B
I IS U TR & SRR Wby P 54 JHUs H UR Hal g |
L JATS T @ Bl 18 . H UR Bl g

01. DA 02. Had 11 3R 10
03. Sad | 3R g1 (11 1 1) 04. i< H G Pig ol
05. 99 A BIs gT
Solution for Question 60 Ans Key: 3
eng Only I and (either II or IIT)
hi had 1 3R T (11 3T 11I)
Q-61  What is the staff strength of company A?
eng
I. Male and female employees are in ratio of 2 : 3 respectively.
II. The number of 80% male employees is 132.
III. Total number of officers is 264.
01. OnlyIandIl 02. OnlyIand III
03. Only III 04.  All are not sufficient
05. None of these
Q-61  PUN AP HHANA &I F&AT e & 2
hi

I TN 3R A SHaTal BT S urd A 2: 3 B
L 80% T HHATRE! &) T 132 |
1. Gd ISR B T= 264 B |



01. PaA13R 1 02. DI 3R 11

03. $ad Il 04. T P T TR 6

05. 378 Y P LT
Solution for Question 61 Ans Key: 1
eng With the use of I and II we can find out the total number of employees.

hi BYF1 3R 11 D! GeTIdl Y Tl DHATRAT DI HBAT T B Hobdl 6 |

Q-62  Find principle amount?

eng
I. The compound interest on the same sum for two years is 484.

II. Rate of interest is 5%.
III. The difference between compound interest and simple interest on that sum is Rs. 41.

01. Onlyl 02. Only I
03. 1I with either I or III 04.  All are not sufficient

05. None of these
Q-62 YRR

" TG ST ST Y-IRIY TR &1 I A 484 TG |
n. TSl B &R 5% 8|
. 33 4RI OR Th i ST 3R TR SAT &7 3R 41 =03 B
01. Had I 02. A I
03. I, 1971 P 1Y 04. gt Y7 yafeg 7T e
05. 3TH ¥ I T8
Solution for Question 62 Ans Key: 3

IT with either I or I1I
IL, 137 111 o 1Y

Q-63 What is Neelu’s present age ?

I. Neelu’s present age is 2/7 of her mother’s age.
II. Neelu’s mother's age will be thrice Neha’s age after 5 years.
III. Neha’s seventeenth birthday was celebrated three years before.

01. OnlyIand I 02. Only IT and 111
03. Only Iand III 04.  All statements are not sufficient
05S. AIlLII and 11T

Q-63 @ addAH JGHTE ?

n 1 AP adHH 3G 3 A7 B Mg Bl 2/7 B
. U aY a1g A &1 A &1 31 35T DT g B i T gR |
1. 9 af uga g1 &1 Teal SHieH AT T B |
01. B3R 11 02. Had 11 3R 11
03. Bael13R 1M 04. T o i T
05. g 1, 11 3R
Solution for Question 63 Ans Key: 5
eng I, IT and III are sufficient to answer
hi I, 11 3R 111 ¥ SR 14 81 qhell 8

Q-64  What are the dimensions of the rectangle ?

eng
I.  The diagonal of the rectangle is Scm.

IL  Area of the rectangle is 12cm?
III. The perimeter of the rectangle is 14 cm.



01. Anytwo 02. OnlyIandII
03. Only Il and III 04.  All three together are not sufficient

05. AIlLII and ITT
Q-64 AP U FE?

hi

L 3Mad &1 9wl 5 9t g |

1L 3719d &1 &0 12 923

L. 3T T U 14 JH 5|

01. HIS W2 02. Had 13RI

03. Had 11 3R 111 04. Tt T v Ty off v g §

05. gt I, 1 SR 1
Solution for Question 64 Ans Key: 1
eng Any 2 can get us the dimensions of rectangle
hi oIg Wt 2 & faArd 19 o Wt @
Q-65 Eng A boat can cover X km while going down upstream in same time in which it can cover (X-8) km while going up stream. If the difference between the
eng distance covered in 1 hr. Downstream and upstream is 6 km and speed of boat in still water is 15 km/hr, then find the value of X.

01. 18 Km 02. 24 Km

03. 30 Km 04. 15Km

05. Can not be determined
Q-65 TUH [ X [, &1 gft T FR Ul § O T8 YRT & SYATE T ¢ AR T8 THH IHT & (X-8) [, &1 gt T S Ahell § 519 T§ URT
¥ Seduare o g1 3¢ 1 6 A 3IyaTe 3R SHeduarg ag o1 it gfkat # ¢ fptft. &1 3R § 3R fRR o/ | A1 &t =1 15 feit /e 8,

a1 X &1 9 F1d Hiforg |
01. 18 fdHHt. 02. 24 foHT.
03. 30 fopmt. 04. 15 fopT.
05. fyfiva Tgifear ST apare
Solution for Question 65 Ans Key: 2

M :E:6km/hr
t 1
g-D—u_ 6%
2 2
D=15+3 =18 km/hr

u=15-3=12 km/hr
X =9

D=15+3= 18 f&H1 /.
u=15-3=12 fHHlH.
X x-—8

18 12

x =24 fop T,

Q-66 The sum of salary of three persons A,B and C is Rs. 72000. They spend 80, 85 and 75 percent of their salary respectively. If ratio of their savingsis 8 : 9 :
eng 20, what is A’s salary?

01. 15000 02. 16000
03. 12000 04. 17500

05. Can not be determined

Q-66 T fGT AB MR C OF® I HTANT 72000 TUD §, HHRT: T I BT 80, 85 3R 75 Ufa=Td W & ad ¢ | Al I qarali o1
hi 3T 8 : 9 : 20 BT Al AT I fhaT 82

01. 15000 02. 16000
03. 12000 04. 17500



05. i g1 fobam ot Hehell 8

Solution for Question 66

Ans Key: 2

eng 20 of x : 15 of y : 25 of z=8:9:20
x:y:z=2:3:4

share ofx=3x72£)(]0=16000
9

hi 20 of x : 15 of y : 25 of z = 8:9:20
X:y:z2=2:3:4

xaﬂ%w=§x72ﬂﬂﬂ=l6ﬂm

Q-67  The simple interest accrued on an amount of Rs. 8500 at the end of four years is Rs.3400. What would be the compound interest accrued on the same

eng amount at the same rate of interest after three years?
01. 2348.50 Rs 02.
03. 2813.50 Rs 04.

05. 2720.75 Rs

3214 Rs
2640.25 Rs

Q-67 8500 IU FHI AR R IR a & 3fd & ffd TR I 3400 TTA B | o1 A U7 I T &R TR T R TR Aol Thafas s

hi EPT[E 2
01. 2348.50 ¥. 02.
03. 2813.50 ¥. 04.
05. 2720.75 %F.

Solution for Question 67

eng I-p =
Cl=g83200 | _i| — =2813.5
L 1] k B
hi I = M 00 =10%
1= 8500
CI=8300 i —il —1[=28153.5

32143,
2640.25 %,

Passage for Questio_n 6—8, 69, 70? (Sle 02 bank po (pre) Q-(2-5))

eng Passage
Study the following pie chart and answer the questions asked.

Break-up of items manufactured by machine M (in degree)

mA aB sC sDE

Break-up of all defective items produced (in degree)

432

Ans Key: 3




sAwB el =D =E

%%a%ﬁqﬁaﬁw&rwﬁﬁﬁ 3R @ T Ui & IW T
=i M gRT (AT aegsit &1 faaron (f&3h o)

72

=1}
s
(=]

BE 4

61.2

st wBuwl aD sE

Q-68  What were the total number of items manufactured by machine M, if 612 units of item C were manufactured?
eng

01. 2800 02. 3000
03. 3600 04. 4200
05. 4500

Q-68 TR T C B 612 sHTAT Fftfa o weft, w=fi m g fAffa aeqait &t e Tve &t

01. 2800 02. 3000
03. 3600 04. 4200
05. 4500

Solution for Question 68

Ans Key: 3

eng Item Break-up of items | Break-up of all

mannfactured by defective ttems



machine M ) produced
A 22 20
B 24 22
C 17 24
D 17 22
E 20 12

Total = E_xm units

017
hi = R M g e T G e
ot o
A 22 20
B 24 22
C 17 24
D 17 22
E 20 12

T = 612 W
2 017 — 3600

Q-69 What is the total number of units manufactured by machine M if units of item B manufactured are 154 more than the units of item D manufactured?

01. 2200 02. 2900
03. 3600 04. 3700

05. Cannot be determined
Q-69 IS axg B ! it so1eal ot W He p & At sweal &t I=m § 154 $if¥e g df, 7=ia M gr1 Aftfa et &t o S g2

hi

01. 2200 02. 2900

03. 3600 04. 3700

0s. effea g foran S wavar
Solution for Question 69 Ans Key: 1
eng Item B — Item D = 7%

Since, 7% of total is 154
Total =134 _ its
Of 07 220 uny

hi HGB-HGD=7%
Tfh, A BT 7% 154 B

Ha= E_mnwrém

Q-70 If the difference in units manufactured of items E and D is 1.5 times the difference in units manufactured of items A and E, find the total number of units
eng manufactured.

01. 1500 02. 1000
03. 2500 04. 2950
05. Data inadequate

Q-70 3f &g E 3R D F! FifHfa sw1sai &1 3R, g A oIk E & fAftfa 1l & SfaR &1 1.5 A 8, at FAfHfa gavreat ot et Tem 3ra wifsr |



01. 1500 02. 1000
03. 2500 04. 2950

05. 3fihe uafd g

Solution for Question 70 Ans Key: 5

eng

Data inadequate

hi

Q-71

eng

Q-71
hi

If the number of items manufactured of E is a multiple of 15, then number of items manufactured of B will definitely be a multiple of-

01. 4 02. 5
03. 12 04. 18

05. 20
e £ ) fafAffa aeqsit &t T 15 &1 o 7, @ B &t fafafifa axqsit &t wem fAfda ©u 3 v 1o geft-

01. 4 02. 5
03. 12 04. 18
05. 20

Solution for Question 71 Ans Key: 4

Q-72

Q-72

Let the number of items of E be 15x
E is 20% and B is 24% of total.
_0.24 _ 6
B=22% E= % =
.70 leix 18x
Hence 18 times.
AT E 1% AGl b T3 15x & |
E &5 BT 20% 3R B Tl BT 24% & |
_ .4 _ 6
B= E=Z =
VR 5){15}( 1Bx
3{d: 18 I[ATI

If 5 men and 3 women can complete a work in 15 days whereas 15 men and 9 women can complete this work in 5 days. Find in how many days 10 men
and 6 women can complete this work?

01. Qdays 02. 75 days
03. 6 days 04. 12.5 days

05. None of these
trfés@g&aﬁwﬂ%wwalﬂﬁaﬁ15%?ﬁwmwﬁ%aﬁ?15@5&@?9%%@&@5%315(@@%%%@10
Y 3R 6 Al 59 1Y ! fbd e H AT HR Ihd § 2

01. of2 02. 75faq
03. ¢feq 04. 12.5feT
05. 399 q PIs el

Solution for Question 72 Ans Key: 2

eng

SM+3W =15 days
10M +6W =15/2 =7.5 days

SM+3W =15 T
10M +6W =15/2 =7.5 fe=1

Q-73

eng

Q-73

In two vessels ratio of milk and water is 5:3 and 5:7 respectively. They are mixed together in 5:4 . Find the ratio of milk and water in the final mixture.

01. 77:63 02. 101:91
03. 107:93 04. 115:101

05. None of these
& U g T UTY BT SUTd S HT: 5 3TUT5: 78 1SR 52 4 & UG W fyamar siran € | sif~w frsror & gy qur urit &7 Srurd 31
DI |



01. 77:63 02. 101:91
03. 107:93 04. 115:101

05. 379 Y PIS g

Solution for Question 73 Ans Key: 4

eng

5:3=8)x3x5
5:7=12)x2x4
75 45

40 56
115:101

5:3=8)x3x5
5:7=12)x2x4
75 45

40 56
115:101

Q-74

eng

Q-74

Anita purchased one table and one chair costing Rs. 680 and Rs. 585 respectively. If she sells table at a loss of & %% and chair at a profit of 16 %% . Find

the total amount she will get by selling these articles.

01. 1280 Rs 02. 1296 Rs
03. 1440 Rs 04. 1320 Rs
05. None of these

ST 7 U A AU U FHHT W} et B HHR: 680 TU TYUT 585 U ¢ | A AT IR I™ _ 1 g1 §S qUT 4l IR 16 2¢
DT Y G I 98 3 a3 I §F DR {1 4 UTed BRI 1] B |

)

L

01. 12807%. 02. 1296°%.
03. 1440%. 04. 1320%.

05. 3TH A BIg TET

Solution for Question 74 Ans Key: 4

Q-75

Q-75
hi

-l

required answer=_" . 580 + L «585 = 537.5+ 652.5 = 1320
16

o |

SR ITR="1 650 + L 685 = 637 6+ 652.5 - 1320

b

Three numbers are poicked randomly from a set of first 100 natural numbers.What is the probability that at least two numbers will be prime numbers?

01. 98/1617 02. 248/1617
03. 496/1617 04. 100/539

05. None of these
%ﬁjﬁﬂ@m TEA 100 M fads TeATslt & T=d H ¥ SoRdd e ¥ e STt 8 | 7 YIS § {6 1 & 61 & T SiHIey T
?

01. 98/1617 02. 248/1617
03. 496/1617 04. 100/539

05. 370 q HIs gl

Solution for Question 75 Ans Key: 2

eng

FIx25%x24xT5+25x24 =23 _ 248
100299 %98 T 1617

P(E) =

hi

3x25x2M4xT75+25x24 %23 248

P(E)= =
100 %9998 1617

Q-76

eng

Sum of three consecutive odd numbers and three consecutive even number is 231. If the smallest odd number is 11 less then the smallest even number than
find the sum of largest odd number and largest even number.

01. 81 02. 85
03. 79 04. 87



05. None of these
Q-76 < it fawm Tt 3R i st T Wema &1 A 231 81 3 Jad Bt fawd e vad IS g0 I= ¥ 11 61 § d g
hi o fawH T 3R T S5 TH TReAT 6T IR F1d I |

01. 81 02. 85
03. 79 04. 87

05. 3789 I HIS Tl

Solution for Question 76 Ans Key: 1

eng Let the smallest odd number be x
Let the smallest even number be y
Given,y -x=11 ........... 1)
x+x+2+x+4)+(y+ty +2 +y +4)=231
3x+3y=219
X+y=T73.......... (i1)
On, (i) + (ii)
y=42
x =31
y+4+x+4=81

hi A oY BIc! [95H 81 x5 |
A 9e) SIS TH ISy 2 |
m%,y—xfll ........... (1)
x+x+2+x+4)+(y+y +2 +y +4) =231
3x+3y=219
X+ty=T73..... (i)
() + (i) I
y=42
x =31
y+4+x+4=81

Q-77 Find the value of variables and state the correct relationship -

X2+6.7x+8.5=0

y2+y—():()
01. X > y 02. e y
03. X< y 04. x < y

05. x =y orrelationship can not be established

Q-77 RIS HM A DI qYT el T RIMUT DI -
x2+6.7x+8.5=0

y2+y-():()

01. x>y 02. X>y
03. X<y 04. X<y

05. x =y I1 FF R g1 fobam o
THdT &

Solution for Question 77 Ans Key: 5

eng x=-1.7,-5

y=2,-3
hi x=-1.7,-5

y=2,-3

Q-78 Find the value of variables and state the correct relationship —
eng
X’=6859

y>=357.21

01. x>y 02. ny



03. x<y 04. XSy

05. x =1y orrelationship can not be established

IR BT A JTd HIOTD TUT Tt T+ T S -
x°=6859

y?=357.21

01. x>y 02. xzy
03. x<y 04. xSy

05. x =y 7 I~ R g1 [T Sff
ThdAT S

Solution for Question 78

Ans Key: 1

eng

x=19

y=18.9,-18.9

x=19

y=18.9,-18.9

Q-79

Q-79

Find the value of variables and state the correct relationship —
X2-6x+8.36=0

y-7.8y+15.2=0

01. x>y 02. ny
03. X<y 04. Xfy

05. x =1y orrelationship can not be established

TR} BT A J1d B qUT FaT T RATd B —
X2-6x+8.36=0

v-7.8y+15.2=0

01. x>y 02. ny
03. X<y 04. xfy

05. x =y 1 R 781 fbaT off
Tl g

Solution for Question 79

x=2.2,3.8
y=3.8,4

X<y

Ans Key: 4

x=2.2,3.8
y=3.8,4

x<y

Q-80

eng

Find the value of variables and state the correct relationship —
X2+8.2x+13.2=0

y+16y+63=0

01. X>y 02. XZy
03. X<y 04. XSY

05. x =1y or relationship can not be established

TR BT A 1A Do aUT e | TFa R Diford —

x2+8.2x+13.2=0



y>+16y+63=0

01 X > y 02. X Z y
03. x < y 04. X S y
05. x =y U1 I R 78T fobar off
BEIN
Solution for Question 80 Ans Key: 1
eng x=-6,-2.2
y=-7,-9
hi x=-6,-2.2
y=-7,-9
Q-81 Recently, Attorney General of India has told the Centre that it must compensate states fully for the loss of Goods and Services Tax revenue during the
eng coronavirus-induced lockdown. Who is the Attorney General of India?
01. Tushar Mehta 02. Atanu Chakraborty
03. Rajiv Kumar 04.  Ajay Bhushan Pandey
05. KK Venugopal
Q-81 T H, URA P SMCHI oFRd A D U BT § [ 34 DRIAGRERY-URT AlBSIST & GRI AT 3R a1 HR oG & JHHM & o Il
ﬁug“fa?‘s"@r gfagfed Bt TR URA P HeraTgarc) i 82
01. TR Agal 02. 3 Ishadt
03. Iofid FAR 04. 3T 0T TS
05. &b qUEIIATS
Solution for Question 81 Ans Key: 5
The Attorney General for India is the central government’s chief legal advisor, and its primary lawyer in the Supreme Court of India.He is
a part of the Union Executive. He is appointed by the President of India under Article 76(1) of the Constitution. He must be a person
qualiﬁed to be appointed as a Judge of the Supreme Court. He should be an Indian Citizen.
% SRR obg HWN%H@ImTﬂmw% %ﬂ?ﬁawﬁsﬂ%
%|a—s' @T%IG@W% e &l—jﬁa%(l)%
N\
\mdlémr«s qucq?mmtr dier & =uH sﬁf{% vy Hfed BT afe |
B%f umﬂtr RIS §HI =6 Ul
Q-82 NITI Aayog in partnership with the Institute of Competitiveness has released the Export Preparedness Index (EPI) 2020.EPI is the first report to examine
export preparedness and performance of Indian states. The three best performing states are?
01. Gujarat, Maharashira and Tamil Nadu. 02. Gujarat, Madhya Pradesh and Maharashira
03. Chhattisgarh, Tamilnadu and Assam 04. Uttar Pradesh, Gujarat and Nagaland
05. Gujarat, Chennai and Sikkim
Q-82 qﬁwufwméﬁmw@aﬁrﬁwnAayogfrﬁtrﬁcrﬁuﬁr?%waam) 2020 SR} foha 8 | WRT Iredt &) fafd domr) 3R ue=fa &
hi 19 A dTelt Ugel RUIE g 998 UG=H B a1l i s
01. TORTd, HERTY, 3R AferTg 02. TORTd, A TAT 3R FERTY,
03. BTG, AMAEATg STk SH 04. IR UG, ToRTd 3R AR S
05. ToRTd, 378 3R Rifdwn
Solution for Question 82 Ans Key: 1
eng The index ranked states on four key parameters — policy; business ecosystem; export ecosystem; export performance.Top 3 states:
Gujarat, Maharashtra and Tamil Nadu. Among the landlocked states, Rajasthan has performed the best, followed by Telangana and
Haryana. Among the Himalayan states, Uttarakhand topped the chart, followed by Tripura and Himachal Pradesh. Across Union
Territories/City States De]hi has performed the best, followed by Goa and Chandigarh
hi

el % IS '@ﬁﬂamam %@%m




Q-83

Where is Pampa River located?

eng
01. Maharashtra 02. Gujarat
03. Kerala 04. Uttarakhand
05.  Arunachal Pradesh
Q-83  UmWIAdl gl fRdg?
hi
01. HERTY 02. ORI
03. HA 04. IRES
05. 3RFPUTEA Ua X
Solution for Question 83 Ans Key: 3
eng Pampa river (Also known as Pamba river)is the third longest river in Kerala after Periyar and Bharathappuzha. Sabarimala temple
dedicated to Lord Ayyappa is located on the banks of the river. The river is also known as ‘Dakshina Bhageerathi’ and ‘River Baris’.
hi WﬂﬁWﬁWGﬁ?Wa;Wmqum?lwqalﬁ T Al “GI&0T YR
TUT ‘TR A (River Baris) % ATH & 4 ST ST @ [T ST BT FHRT SaRIHTaT Fie U el &
GERRARIGE
Q-84 First Kisan Special Parcel Train flagged off from Devlalito
01. Danapur 02. Dhanbad
03. Dewas 04. Datia
0S. Dhimapur
Q-84  Updl foru WA URid ¢ ®l qaaent & o fore Xarr fasa 7.
01. GHFTQR 02. Y9dIc
03. 3d 04. gfca
05. fImTqR
Solution for Question 84 Ans Key: 1
In the Union Budget 2020-2 1, Minister of Finance had made an announcement ‘to build a seamless national cold supply chain for
perishables, inclusive of milk, meat, and fish. It was also stated that the Indian Railways will set up a KISAN RAIL. Indian Railways is
introducing first "Kisan Rail" from Devlali to Danapur. The train will provide seamless supply chain of Perishable produce.
Py Feic 030-38 H, fat HaAl 3 U TIvon 1 & UR=Iee & forg teh FMafy A9 dies Gwry o oM &
fer, !, T 31X Al e €1 T+ gl 7T T b URAI 673 U KISAN RAIL BT RITT
HUNHRA 3673 U "THE[ 0" ! YH3Md Saarel 9 aFIGR deb B2 et ¢ | I8 o URYSd STe &l
BEREICGE NI HEERI
Q-85 (National Payment Corporation of India ) NPCI will build its smart data centre in which city at an investment cost of Rs. 500 crore?
01. Mumbai 02. Bengaluru
03. New Delhi 04. Hyderabad
0S. Gujarat
Q-85  YRd &1 IEN YTAH FTH (NPCI) 500 FRIS $TY B! AR AN TR foh e qrgx & 301 W1 Sl Her -
hi
01. T4as 02. ST
03. 7 faedt 04. BTG
05. TGRTd
Solution for Question 85 Ans Key: 4
eng The National Payment Corporation of India (NPCI), the umbrella organisation for operating retail payments and settlement systems in
India, is all set to launch its own Smart Data Centre in Hyderabad. NPCI said it had chosen Telangana as it is one of fastest growing IT
corridors in the country
hi AR YHC 31T SSTT (NPCI), YR H FGERT YT 3R G Turei! & HTer o [g Sl
H‘IO-—I sdelcﬂd wﬁgﬂﬂ%‘c‘ gIcT e -‘g,ea d'N-I S 1 NPCI 3 6T fob 3T AT bl AT T
Fifds I8 o H Ty doit A4Th ol
Q-86 In order to attract tourists which state has launched the 'Intezar Aap ka' Campaign on social media?

eng



01. Madhya Pradesh 02. Uttar Pradesh

03. Tripura 04. Goa
05. Uttrakhand
Q-86 Tiewhi®! AHRfd B & for for o 3 Wivre Hifear R SaWR 3y &1 S Y o g2
hi
01. HLA TR 02. JTWRUSY
03. BT 04. e
05. IWIES
Solution for Question 86 Ans Key: 1
eng Madhya Pradesh Tourism board has launched a campaign “Intzaar Aap Ka*. The campaign has been launched on social media platforms to
attract tourists to the tourist places of the state. Through the campaign “Intzaar Aap Ka”, the Madhya Pradesh Tourism Board has been
inviting tourists by describing about each tourist destination in an attractive way.
hi A Y3 T ds A U AT "SAWR ST |qoq|€|w$uﬁa=rw1nuwaﬁ’re{mﬁm
B o eTY HI=1el HIFSTT wiehrH! IR AT R fobal 11 8 | e Ta® G SIS H "SAVR SIeT”
S & HiedH 9, YA Y Tded %aﬁﬁw@aﬁ% Y U IRb tm%ﬁa% mfAd fbar gl
Q-87 What is the theme of the International Day of Cooperatives 2020?
01. Cooperatives Enterprise Empowers Women 02.  Choose Cooperatives choose equality
03. Cooperatives for Climate Action 04. Cooperatives Enterprise Empowers People
0S. Public and Cooperative Legislation
Q-87  TEHINGI HT RIS fdaw 2020 o1 FH T B2
01. HEHRI ITH HigE3f B G=Tad 1T 02. bRl I FHHAT I
03. SqdTg HRATS & o TEHIRT 04. TEHRI IGH ANl ! JLad 1T &
05. |I® AR BRI faem™
Solution for Question 87 Ans Key: 3
International Day of Cooperatives is celebrated on 4 JULY 2020.This year the theme is 'Cooperatives For Climate Action'. It was chosen
to address the threat of greenhouse gas emissions and global warming and to support Sustainable Development Goal (SDG) 13 on
Climate Action.
WWW[@H%&H4 202 EIO:TIHTEITTFHTI ﬁﬁﬁmﬁwwaﬂw
U (STeaTg RAIS . (oY dn) |sﬁu|r15|dﬂ \wuﬁ TGS JITHT o ok ! qaldd
Cb%"i Wﬂdl‘ildd”l‘i‘l% G4 ‘H(‘i(‘lICIGblH a&H( ) 13@@ gq Tqr Yl
Q-88 After Mizoram, which state Government has decided to ban commercial import and the sale of dog and dog meat?
01. Sikkim 02. Assam
03. Himachal Pradesh 04. Manipur
05. Nagaland
Q-88 TINIRA & de, 3y I8 WHR A it 3R T & A & FIITD Smard 3R faes! R ufaey T &1 wyan faar ge
hi
01. fufeea 02. 3/ gH
03. fewmd uax 04. HOMGR
05. TS
Solution for Question 88 Ans Key: 5
eng The Nagaland government has decided to ban commercial import and the sale of dog and dog meat. The Mizoram government had taken a
similar decision in March.
hi AN WRBR = Tl IR Fd b WY o AP AT AR fash! TR Uldae T BT el [bal g |
fHIRA TRBR - A< H 41 ave o1 oy ferar i
Q-89 Which ministry has launched “‘Chunauti”- Next Generation Startup Challenge Contest?
eng

01. Ministry of Electronics and Information 02. Ministry of Commerce



Technology
03. Ministry of Skill Development 04. Ministry of Women & Child Development

05. Ministry of Jal Shakti
T G B, B Y TATT GRT FAD — AaIE TR WIS HY el UTIdT &1 JHR™ far T g2

01. g 3R a1 UIeifies! waarery 02. Fiforery Hared
03. PIIF RPN HITg 04. ARG U4 919 fap g AT
05. d Xfad HAGd

Solution for Question 89 Ans Key: 1

eng

hi

Q-90

eng

Q-90

To further boost startups and software products with special focus on Tier-II towns of India. Identify around 300 startups working in
identified areas and provide them seed fund of upto Rs. 25 Lakh and other facilities.

HRA & feaR-2 e UR faRY &4 34 & 1Y T 3R TIeddR Il ol 30 derdl ol [ifed &=t /
BTH B Ig TTHI 300 LIEH P UG BT 3R 35 25 TG ¥UY dh Bl YR IR (1S B) qU1
3= GAUIU JUcTsY BT |

When was Pradhan Mantri Jan Dhan Yojana announced?

01. 15th August 2015 02. 26th January 2014
03. 15th August 2016 04. 25th August 2014
05. 15th August 2014

YTTHFT ST 4 TSl &1 OV e i 175 A2

01. 15th 3T 2015 02. 26th SFaRT 2014
03. 15th 3T 2016 04. 25th 31X 2014
05. 15th 3TRd 2014

Solution for Question 90 Ans Key: 5

Q-91

Announced on 15th August 2014, PMJDY is National Mission for Financial Inclusion to ensure access to financial services, namely,
Banking/ Savings & Deposit Accounts, Remittance, Credit, Insurance, Pension in an affordable manner. Completes six years of
successful implementation. The number of total PMJDY accounts stand at 40.35 crore. Rural PMJDY accounts stand at 63.6 percent.
Women PMJDY accounts stand at 55.2 percent.

15 3RT 2014 BI 9IYd, PMJDY [deitd Harafl o fore 181 A 5, S fos ot @, srufq, ofdbe/ sa
3R ST GTell, HYT, $h1Se, ST, U= I Te fhthrgeh @W@%W%%ﬂ%@%%%
A B0 Bl QR ST 8 8 d PMIDY WTdl &1 TG 40.35 HRIS ¢ U0 FedoisSian @id 63.6
yfoRId 3 | Afgen ersie aTs 55.2 Uavd & |

The term ‘Armageddon’ is associated with-

01. Chess 02. Hockey
03. Table Tennis 04. Basketball

05. Squash
ST e fhTd Y ST g3 82

01. R 02. gich!
03. 2§d Ay 04. FRHeAA
05. T

Solution for Question 91 Ans Key: 1

eng

Q-92

eng

Term is related with Chess.It’s similar to a Super Over in cricket or a penalty shootout in hockey or football.In an Armageddon game
White has more thinking time on the clock than Black but a draw on the board scores as a Black win. Normally White has five or six
minutes and Black four or five for the entire game.

g O el 3 | T8 fohdbe B YR SR & 7 glep! I gl dl B Urige! N
S 162 o) Sl 91 G e i e e T vy o < ovad

Where Naku La pass is situated?

01. Sikkim 02. Ladakh



03. Bhutan 04. Nepal
05. Jammu & Kashmir

Q-92 i WX bel fRUTR?
hi
01. Ryfepd 02. @
03. e 04. UTe
05. SR 3R FHR
Solution for Question 92 AnsKey: 1
eng Naku La sector is a pass at a height of more than 5,000 metres above Mean Sea Level (MSL) in the state of Sikkim. It is located ahead of
Muguthang or Cho Lhamu (source of River Teesta). China has been developing two air defence positions that will cover the 2017
Doklam stand-off area and also Naku La in Sikkim.
hi AHdl X [H[dhy Tg%ﬁﬂﬂ%ﬁﬁﬁ%%o HIC %%ﬁ&ﬂlgﬂ?ﬁgl H‘TW?ITQT\?I’I%H
([t IRt T i) P31 YT 8 1 I agv&nu% A RId #R XgT g ol 2017 LE-3h
DI HAR BT 3R Rifahd J =5 o 4|
Q-93 Channapatna toys are a particular form of wooden toys (and dolls) that are manufactured in the town of Channapatna in the Ramanagara district of which
eng state?
01. Nagaland 02. Manipur
03. Karnataka 04. West Bengal
05.  Gujarat
Q-93  TAYCI fGaH Adhe! & R (3R M) FT TH (9T ¥4 § ol b o8 & IHR foret & gue1 2R § it forw o 82
01. TS 02. HIUQR
03. FHfcwH 04. TigH ST
05. W
Solution for Question 93 Ans Key: 3
This traditional craft is protected as a geographical indication(GI).As a result of the popularity of these toys, Channapatna is known as
Gombegala Ooru (toy-town) of Karnataka.
wmﬁwﬁwﬁww (GI)%ﬁqﬁ%ﬂ &HWGH?H%I = RIAHI ! Al T b
URUTARGSY, FATdCHl Pl HrlcH b 3= ( “TER) & = H ST STl g |
Q-94 ‘Which among the following country jointly conducts Avia Indra military exercise?
eng
01. India and France 02. India and China
03. India and Russia 04. India and Nepal
0S. TIndia and Japan
Q-94 FHfRed & ¥ 31 W1 3= Sgad U ¥ i 35 W= 31a Siford Sl 87
hi
01. R 3R B 02. YRd AR A
03. YR 3R EY 04. YR 3R AT
05. YR 3R S
Solution for Question 94 Ans Key: 3
eng The service specific exercise AVIAINDRA held between Indian Air Force and Russian Federation Aerospace Force (RFSAF). The aim of
this exercise is focused towards anti-terrorist operations in bi-lateral scenario.
hi AT 1AIRIY 31N A RA WWWWWW RESAF) & dld S{TIIISId [hd]
T 39 3 Bl @m&% 3fTcicharc faRTelt 3% ﬁaﬁ?ﬁﬁa%ﬂ
Q-95 The Central Mechanical Engineering Research Institute(CSIR) is located in which state?
eng
01. West Bengal 02. Tamil Nadu
03. Uttar Pradesh 04. Madhya Pradesh
05. Andhra Pradesh
Q-95 oo Hafwa solifaf Rad $&iege (CSIR) fra g o Ryd g2



01. fgrH STt 02. AAEg

03. IWRUS™ 04. AHYSY

05. 3ffgI g3
Solution for Question 95 Ans Key: 1
eng The Central Mechanical Engineering Research Institute is a public engineering research and development institution in Durgapur, West

Bengal, India. It is a constituent laboratory of the Indian Council of Scientific and Industrial Research.

hi CSIR-CMERI develops World’s Largest Solar Tree.
Yed A B Son-anT RUd SRIc]e , f3H ST, HRd H U ATaslah G- Sraem
3R famr TRIM ¢ 198 YR a® SIIHUT URYE &I Th gedh YINTRIAT § |CSIR-CMERI
o 1 T IS R géf fadmRid axdl g |

Q-96 What is the name of the scheme which provides training and skills to the women in traditional and non-traditional trades?
eng

01. Kishori Shakti Yojna 02. Rashtriya Mahila Kosh
03. Swayamsiddha 04. Swawlamban
05. Swadhar

Q-96 I TISHI HT T T § W URURSD 3R R-URURSE TR T Afgarsfi & ufRreor 3R Hi=ret e ddl 82

01. P wifdq A 02. 18T Higdl By
03. WIS 04. Wadsd
05. WYR
Solution for Question 96 Ans Key: 4

Swawlamban scheme is to provide skills that give employability to women. To provide competencies and skills that enable women to
become self employed / entrepreneurs. This scheme is for socially distressed women and girls of the age group of 18-35 years, women
from BPL families, women in moral danger, transgender communities.

IS I NERRINE UG D b 1014 g ol HieaT3]l Bl JoN]R edl g I e3l bl TRISHR / Sl
& s?f%uaﬂ IS TSR @% 31f 3[R 18-35 9N Bl
SANCRELER (IR A e ORI AR Rk U U SR

Q-97 Who has been named the men's cricketer of the year at Cricket South Africa's (CSA) annual awards 2020?

01. Dean Elgar 02. Quinton de Kock
03. Kyle Abbott 04. Chris Morris
05. Kagiso Rabada

Q-97 forde IR SipiaT (CSA) F AItd TRIBR 2020 T 58 ¥ H1 T3 fohdbex it fava T 52

01. SHTER 02. fPeaSiPiw

03. H2d T§ic 04. forg ARE

05. HRI TS
Solution for Question 97 Ans Key: 2
eng White-ball skipper Quinton de Kock was named the men’s ‘cricketer of the year’ at Cricket South Africa’s (CSA) annual awards

ceremony, held virtually due to COVID-19 pandemic. Pacer Lungi Ngidi was named ODI and T20 player of the year while David Miller
was voted the fans’ favourite player.

o fobehe QIR 3Bl b %%%Wﬁ [Sc-aId & HW [ Sf Didh bl TH Y Bl

' 3P g S %mmwﬁa@uaﬁ?a TR,
R AVREIRATES

Q-98 Which social media platform has launched the campaign "It's Between You" in India?

eng

01. Facebook 02. Telegram

03. Instagram 04. Whatsapp

0S. Twitter
Q-98 Ty e i wewnd 7 URd & 3ey fedH g oiftrM = fhar g2
hi

01. HIH 02. o™



03. ST 04. Py
05. fgx

Solution for Question 98 Ans Key: 4

eng Messaging giant WhatsApp has launched its first brand campaign ‘It’s Between You’ in India that narrates real stories about how Indians
communicate daily on WhatsApp 'in their closest relationships.'

hi BT QTS BIcHEY H HRd H 301 SIS AHIHAM 5 [dcy g 'A< |obq|%‘ SIEESICEAC RG]
BT G0 BT & b DY HRATI ASTHT 30 e Heael H geHuy IR Halg $3d 8|

Q-99  Which of the following is not the function of RBI?
eng

01. Custodian of foreign currency 02. Printing of currency
03. Controller of credit 04. TIssuance of coins

05. Banker to the Government

Q-99 fHfaRed # ¥ &F I o1l YRR ford §% &1 g1 82

hi
01. fad=ft qgr o1 PRSI 02. HgT BT HUT
03. U %l fAuAH 04. gt &1 o ST
05. TFHR HTdF
Solution for Question 99 Ans Key: 4

The Government of India has the sole right to mint coins. The responsibility for coinage vests with the Government of India in terms of
the Coinage Act, 1906 as amended from time to time. The designing and minting of coins in various denominations is also the
responsibility of the Government of India.

WW%WWW@HH 3fIBR g IRTF®T SIfARTw 1 906$ﬂaﬁﬁwwé€wuw
%muwaﬁgqésm %ﬁaﬁﬁfuaﬂmﬁﬁaaﬁ feoms i 3Rk W= i YRd WRBR
e gl

Q-100 The Reserve Bank of India (RBI) has released the Monetary Policy Report for the month of August 2020.The central bank kept the repo rate unchanged
at what percent?

01. 39 02. 3.35%
03. 49, 04. 4.25%
05. 59%

Q-100 YRdA RSTd § (RBI) 7 ST 2020 & foi Hifse =fifa Ruid IR &1 81 S & 7 30 &R B fava- Uferrd oR sraRafda am g2

hi

01. 3% 02. 3.35%
03. 42 04. 4.25%
05. 5%
Solution for Question 100 Ans Key: 3
eng Il;eS (I)}BI kept the repo rate unchanged at 4%, reverse repo rate at 3.35%, and marginal standing facility (MSF) rate and the Bank Rate at
25%.

hi RBI A 301 3T BT 4%, G 30T € B 3.35% 3R A WK ST BIATCIe! (MSF) 1 &R 3R §d 3¢ &
4.25% TR 3Rafdd 3@l

Q-101 Free and compulsory education is provided to the children who are in between which of the following years?
eng

01. 5to 13 years 02. 8to 16 years
03. 7to 15 years 04. 6to 14 years
05. 6to 18 years

Q-101 f: e 3R ifart e 37 It ) ye™ &t et § o Fofifea A A frq ad s S A g2
hi

01. 539139 02. 89 169T@
03. 79 1591@ 04. 63 14910
05. 639 1891@
Solution for Question 101 Ans Key: 4

eng The Constitution (Eighty-sixth Amendment) Act, 2002 inserted Article 21-A in the Constitution of India to provide free and compulsory



education of all children in the age group of six to fourteen years as a Fundamental Right in such a manner as the State may, by law,
determine.

hi Hﬁerﬁ(isefmmﬁaﬂ)s{fﬁﬁm 2002%%%141%%13&@63321 UDH D Y B 31 & T
I B [: Yoo 3R SMAar fReft TeH HRA & folE T Mfdih SMAPR & U A T & 9 H 39 R I
2T S el 5 |
Q-102 Rani Rampal is an Indian hockey player. She She became the first Indian woman to win a Rajiv Gandhi Khel Ratna Award 2020. She belongs to which of
eng the following states?
01. Telangana 02. Qdisha
03. Madhya Pradesh 04. Karnataka
05. Haryana
Q-102 I YU Ush YR gioh! FAeTS! | ag Xrofta el W e GREBR 2020 S arent Ugelt YR afgar a1 a8 Fofafea & @ forg
hi 1 B g2
01. QT 02. 3fifg=m
03. LT 04. FHfcH
05. giegron
Solution for Question 102 AnsKey: 5
Rani Rampal is an Indian field hockey player from Shahbad(Haryana).At the age of 15, she was the youngest player in the national team
which participated in the 2010 World Cup. For Rani Rampal, the first woman hockey player to get the Rajiv Gandhi Khel Ratna, India’s
highest sports honour. Only male hockey stars Dhanraj Pillay and Sardar Singh have received Khel Ratna. Rani is among the five chosen
this year - Rohit Sharma (cricket), Vinesh Phogat (wrestling), Mariyappan Thangavelu (para athletics) and Manika Batra (table tennis) are
the others.
ﬁww{h aﬁwuﬂ?ﬂnuﬁﬁwménsaﬁﬁ@% ﬁ
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Q-103  What is the minimum amount required to open an account under Sukanya Samriddhi Yojana (SSY)?
01. Rs 550 02. Rs 450
03. Rs. 750 04. Rs. 250
05. Rs. 1000
Q-103 gH=u1 TG Ao (SSY) & dgd WAl WA o o IR =gAdH M 1 52
01. 550% 02. 450%
03. 750% 04. 2509
05. 1000%®
Solution for Question 103 Ans Key: 4
eng Sukanya Samriddhi Account (Girl Child Prosperity Account) is a Government of India backed saving scheme targeted at the parents of
girl children. The scheme encourages parents to build a fund for the future education and marriage expenses for their female child. The
scheme was launched by Prime Minister Narendra Modi on 22 January 2015 as a part of the Beti Bachao, Beti Padhao campaign. The
scheme currently provides an interest rate of 7.6%(for Apr-July 2020 quarter) and tax benefits.
hi CISTUNRLESS 310bld ‘HRCI {-RObN aﬁ%&; 12%:%?% Gﬁ?ﬂ%msﬁ??
m?n ﬁ?n &d el U8 *»
T%IE@RHT%HW gl |22\ﬂ4q<|%15ﬁéﬂ
a:%a ua&h&rmtr% g%wﬁ TR?IT%HIEI'TIH KH 7.6%
SIeTTs 2020 foATg! R Y UM B G |
Q-104  SuMA4All initiative, sometimes seen news is related to which of the following global initiatives?
eng
01. Sustainable Development Goals (SDGs) ~ 02. World Bank's Multi-Country AIDS Programme
03. Climate Action Plan (CAP) 04. Health Action Plan
05. Carbon Emission Action Plan
Q-104 UIT: THERIH Tffa “sumaalr ugd, Fafafead & ¥ fvw oy uga I Jafia g2



01. Tad [P A& (SDGs) 02. {3y d& &1 Aec] H) TSy Urg
03. STy ST IS (CAP) 04. RGBT IGH
05. BT I BT ST

Solution for Question 104

eng

Q-105

eng

Q-105

Ans Key: 1

Not a single country — developed or developing — is on track to achieve sustainability in the transportation sector and attain the

Sustainable Development Goals (SDGs) mandated by the United Nations, according to a report by Sustainable Mobility for All

(SuM4ALll) initiative. The SuM4All initiative, launched in 2017, is an umbrella platform that brings together 55 public and private
organisations and companies to act collectively to implement the SDGs and transform the transport sector. The report, charted a Global
Roadmap for Action (GRA), which provides a catalogue of policy measures that have been used and tested around the world to achieve

four policy goals — universal access, efficiency, green mobility and safety.

}T\@W Aifaferct q'fl’{ (Sustainable Mob1 for All: SuM4L) ;ga @I Uh Rard & SR, tlﬁﬁ%:f 8?13
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(Global Roadmap for Action: GRA)
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efficiency, green mobility and safety) \_rl Idl % |
Bhaskar Avhad who passed away recently was a veteran ?

01. Singer 02. Journalist

03. Businessman 04. Advocate

05. Musician

YRR 3{dge fSHb1 g1d o1 | e 81 a1 1, 98 QY

01. IMgh 02. JAHNR

03. gaamt 04. gHIA

05. IdepR

Solution for Question 105

Q-106

Q-106

Senior advocate and author Bhaskarrao Avhad passed away. He was 78.

Ry 3ffIgadT 3R kg HRBRRIT 3d8E Pl HYT 8l 7a7| I8 78 98 &b I |

Name the climate activist from India who has been named in the UN Chief’s New Youth Advisory Group on Climate Change?

01. Sudha Jha 02. Archana Soreng
03. Meena Kumari 04. Preeti Nangia
0S. Rita Verma

YRA & AR BRI BI T4 Sgdd IF T & -4 a1 GaedR TG & STearg uRad= IR A1 faar a1 g2

01. gyTaN 02. 3FRFTERT
03. HiH T HAR 04. ey i
05. Jaraaf

Solution for Question 106

eng

hi

Q-107

eng

Q-107

Indian climate activist Archana Soreng named by UN chief to new advisory group.

YR SIAar] SRt a1 TR Bl Ggad Y THE A 98 JehR THg &I A4 [Gar g |

Which venue in Haryana has been chosen to host the fourth edition of the Khelo India Youth Games?

01. Ambala 02. Karnal
03. Rohtak 04. Panchkula
05. Hisar

BTN & g I &1 Wt 3fEa1 gY 1R & Y YB01 H1 ASTaHT & o8 AT T 82

01. 3farer 02. BT
03. 3gad 04. Ugdpal

WW CPCQ‘II‘I HalH d”‘l(‘ll
R&T (universal access,
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Ans Key: 4

Ans Key: 2



05. fgOR

Solution for Question 107 Ans Key: 4

eng Panchkula in Haryana will be hosting the 4th edition of Khelo India Youth Games, Sports Minister Kiren Rijiju announced along with
state's Chief Minister Manohar Lal Khattar.

hi BTN H Ylchedl H Wl 1ST Y T o I HIDRUT bl HOTETHI DI ST, Te HaAl [h RISTo] ol &
TIgR Tl Wex %ﬂmg&mﬂﬁl

Q-108 How much grant has been given to India by Asian Development Bank (ADB) to combat COVID-19?

eng
01. $1 million 02. $4million
03. $3million 04. $ 5 million
05. $ 10 million
Q-108 COVID -19 T HHTEE B & o TRIATE fdHRI 8% (ADB) gRT YR &1 a1 e fear man g2
hi
01. $ 1 fafera 02. $ 4 fAfergH
03. $ 3 fafera 04. $ 5 faferA
05. ' 10 fhfera=
Solution for Question 108 AnsKey: 3

Multilateral funding agency ADB said it has approved USD 3 million (about Rs 22 crore) grant to India from its Asia Pacific Disaster
Response Fund to further support the government's emergency response to COVID-19 pandemic. The grant, which is financed by the
Japanese government, will be used to procure thermal scanners and essential commodities to strengthen the India's COVID-19 response.

far qiyor goidt gele - gl fob ST -19 HETHRT o fo1T {RPR bl Ul vfdifebar

%&@%W%@%%@W%ﬁgﬁﬁw LM
QRIS 1

L T s T Y ol

Q-109 What is the extended deadline after which hallmarking of Gold Jewellery will be mandatory?

01. March 31,2021 02. May 1, 2021
03. November 30, 2021 04. June 1, 2021
05. March 1, 2022

Q-109 fawaia wHg o o1 8 R TG Tiics SAas! &1 gledTias T if-ard gifl

01. 3197, 2021 02. 13,2021

03. 30 94sR, 2021 04. 1, 2021

05. 1™, 2022
Solution for Question 109 Ans Key: 4
eng The government has extended deadline for mandatory hallmarking of gold jewellery and artefacts by over four months till June 1, 2021,

in the wake of the ongoing Covid-19 pandemic, Consumer Affairs Minister Ram Vilas Paswan said.

hi JUHIFAT A o HAT IHAAE UIAT A el b IRPR o Il 38 PIfdg -19 TMHRI b HeToR 1 9,
2021%%%@ Wﬁaﬁeﬁaﬁmﬁw%wﬁél o

Q-110  Which of the following has partnered with National Skill Development Corporation (NSDC) to train rural youth for financial services jobs?
eng

01. Ujjivan Small Finance Bank 02. Fino Payments Bank
03. Utkarsh Small Finance Bank 04. Airtel Payments Bank
05. AU Small Finance Bank

Q-110 Wﬁﬁmﬁw@amﬁwmmsm)%muuﬁwwﬁﬁﬁﬁu@m%&ﬁ%%qﬁmmﬁ%%umﬁ
i ?

01. Il oy fad b 02. 5= THeE d%
03. Iy Y foda S 04. TR UHeH IF
05. Tg WA BRI I
Solution for Question 110 Ans Key: 4

eng Airtel Payments Bank Ltd has joined hands with National Skill Development Corporation (NSDC) in a bid to train and skill youth from



rural areas on financial services, helping them to find jobs and become entrepreneurs in the sector.

hi TRed UHe %%ﬁ%ﬁﬁﬁu@mﬁwﬂmﬁ%wﬁﬁw P 3R I8 AR Qe |
Teq %ﬁgﬂu;ﬁwﬁmﬁmﬁm T BT o ﬁﬂ%t{%sﬂ&hﬁ%w
fa & 3R D |

Q-111  What is the theme of World Hepatitis Day 2020?

eng

01. Invest in eliminating hepatitis 02. Hepatitis-free future
03. Find the Missing Millions 04. Eliminate hepatitis by 2030
0S. Hepatitis-free India

Q-111 Ty gUerEfey fdaw 2020 F1 fawg w1 82

hi

01. FUCRRUPITH A A A H 02, gUCRiCH-Tad yiaw

03. Bes < AR fafer—g 04. 2030 TP FUCTSICH DI TH B

05. gUCTEly-gad YRA
Solution for Question 111 Ans Key: 3
eng World Hepatitis Day (WHD) takes places every year on 28 July bringing the world together under a single theme to raise awareness of

the global burden of viral hepatitis and to influence real change. In 2020 the theme is 'Find the Missing Millions'.

fy %Eaﬁﬂﬁ?m S[TTS o) vy & d5d IR gUcsied & af
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Q-112  Who is the author of the book ‘Greenlights’ going to be published in October 2020?

01. Harper Lee 02. Mark Twain
03. Matthew McConaughey 04. John Steinbeck
05. Gary Oldman

Q-112  3FTER 2020 H YHTRIT B aTelt T WHaTSe & s S 62

01. grdReht 02. T& ¢
03. TG AP 04. ST EHIS
05. Y 3fcsEA
Solution for Question 112 Ans Key: 3

Oscar winning actor Matthew McConaughey to release first memoir 'Greenlights'.

3{TEHR fastar ST B Ah T = Ugal IRl UHarsey SIRY fdar|

Q-113  Where is Kakrapar nuclear power plant situated which has become the first indigenous nuclear reactor to attain criticality?

cing

01. Udaipur 02. Surat
03. Meerut 04. Patna
05. Chennai

Q-113 FIIUR URAIY] Sl HAF Bl U § off Teaquia UTed H- Jrell Jgdl Wi IRATY] Ruaex &+ 1 57

01. ISTR 02. XA

03. T3 04. TeAT

05. I9s
Solution for Question 113 Ans Key: 2
eng The third unit of Kakrapar Atomic Power Station is a 700 MWe capacity Pressurised Heavy Water Reactor (PHWR) and is located in the

Tapi district of Gujarat. This Kakrapar 3 plant is fully indigenous, making Aatma Nirbhar Bharat a reality. The first two units of Kakrapar
power plant were based on Canadian technology.

hi Sl L B AT HRY
B T !

aRATdH dT &1 a1 7191 § | HIHIUR UTaR Wic Dt SPIT HIST DI db-1dh TR 3TN Ut

Q-114 By which year will the Indian Railways begin using Radio-Frequency Identification Tags (RFID) for tracking all wagons?



eng

Q-114
hi

01. 2022 02. 2023
03. 2024 04. 2025
05. 2026

g 9 ae URdT Yad Tt I B 2 A F o -t 3 SfRefBH T 3T (RFID) HT ITINT L= &R it

01. 2022 02. 2023
03. 2024 04. 2025
05. 2026

Solution for Question 114 Ans Key: 1

eng

The Indian Railways is fitting radio-frequency identification tags (RFID) in all the wagons. These tags will be used for tracking the
wagons. Railways is planning to complete tagging all wagons by December 2022.Using RFID devices will be easier for the railways to
know the exact position of all the wagons, locomotives and coaches.

gﬁ%ﬁﬁﬂﬁ@ﬁ@isqhﬁﬂgﬁ EHZT%FID)W HEREIER] |iaé‘ %?Héﬁm$
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Q-115

Q-115

In the name of whom did the Rajya Sabha secretariat launched an Employees’ Welfare Scheme?

01. ArunJaitley 02. Sushma Swaraj
03. Atal Bihari Vajpayee 04.  Sheila Dikshit
0S.  Amar Singh

TIHT IfIaTad = fbad A1 0R U HHAR! HedTul Ao LE B2

01. 3f3UTSlcal 02. AT TR
03. 3fce fogRY arorudt 04. iterr difard
05. 3R Rig

Solution for Question 115 Ans Key: 1

Q-116

Q-116
hi

The Rajya Sabha Secretariat has launched an employees' welfare scheme in the name of late Arun Jaitley which will be funded by the
pension his family receives as he has been a member of the upper house. The scheme seeks to benefit group 'C' employees of the
secretariat by awarding their children three scholarships for higher technical and professional education. Besides, the employees will be
extended financial support in case of death and medical emergency.

ATy J W& BT Sleel! o HT IoH] I P &, Sl 39 _URAR
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Who will head the committee formed by the HRD Ministry to form guidelines and suggest measures to ensure that more students study in India?

01. Krishna Verma 02. DP Singh
03. Vivek Rana 04. YS Reddy

05.  Anita Singh
Wﬂg}ﬂqﬁmwmmqmﬁmmﬁ&ﬁqﬁ 3R T8 YA A F IR G o YR B 3R 31 o=
T T2

01. FHWTaaf 02. I Rig

03. fades Iom 04. ATETT IS
05. 3ftar g

Solution for Question 116 Ans Key: 2

eng

Mr. Ramesh Pokhriyal ‘Nishank’, Union Minister of Human Resource Development announced that the ministry has set up a committee
headed by UGC Chairman, D.P. Singh to form guidelines and suggest measures to ensure that more students study in India and there is a
smooth transition for students returning from abroad due to COVID-19 situation. In addition to these, the committee will recommend
mechanisms to increase the intake in well-performing universities.

oA ] At &Y 0= e FRice A CAREIRRE & &, SIUl THg i
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Q-117  The Competition Commission of India has approved the acquisition of Krishnapatnam Port Company Limited with whom?
eng

01. Adani Ports & SEZ 02. Dredging Corp
03. Jawaharlal Nehru Port Trust 04. Gujarat Pipavav
05. Visakhapatnam Special Economic Zone

Q-117 R ufaegyf 3maiT ¥ wnyem 9 S U= fiffies & sifiurgur ot weodt fbad ary &t g2

hi

01. 3 OEY 3R TESS 02. SRfTH

03. SATERATA A8 UIe ¢ 04. ToRTd furarg

05. fammaTTTH faRy e &=
Solution for Question 117 Ans Key: 1
eng India's fair trade regulator, Competition Commission of India (CCI) has approved acquisition of Krishnapatnam Port Company Limited

by Adani Ports and Special Economic Zone Limited(APSEZ).

hi HRAd & Y& AMUR [[Ha1H %, YIdxgd] (CCI)#&@?]TW?% S REECISIEEASIEINIE S
(APSEZ) gRT HWIMUcH UI¢ bU] fifdes & ga'

Q-118  Partha Pratim Sengupta has been appointed as the new Chief Executive Officer & Managing Director of which bank?
eng

01. Indian Overseas Bank 02. Federal Bank
03. Punjab National Bank 04. Lakshmi Vilas Bank
05. Bank of Baroda

Q-118 9 ufcw I B! ford § &1 101 [T HRIGRT ISR 3R Uaey Fe e Fgad fasar T g2

01. ST e dF 02. BT ISP
03. USE A b 04. &I faa dF
05. I ffh SSIal
Solution for Question 118 Ans Key: 1

Partha Pratim Sengupta, Deputy Managing Director and Chief Credit Officer at State Bank of India, has been appointed as the new
Managing Director and Chief Executive Officer of Indian Overseas Bank. The post fell vacant after the superannuation of Karnam Sekar
who retired on June 30

%65 Wﬁ?ﬁtﬁwmmﬁu@mﬁmm
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Q-119  What s the capital and currency of Sweden?

01. Bern, Franc 02. Stockholm, Krona
03. Brussels, Euro 04. Madrid, Euro
05. Berlin, Euro

Q-119 WA FI Wy 3R g1 FT B2
hi

01. s, %P 02. EiphgH, HHT

03. o, 04. s, A

05. §fer, T
Solution for Question 119 Ans Key: 2
eng Capital: Stockholm, Currency: Swedish krona. Violence erupted in the Swedish city of Malmo where over 300 people had gathered to

protest against anti-Islam activities.

hi QIWI‘JF\T Ih WIS HIHTTIS o AIH] Qg H [edl HSdh 331 Wil 300 T Hd AT I
IR R LRI

Q-120  Fulpati is a famous festival of:
eng

01. Myanmar 02. Bangladesh
03. Sri Lanka 04. Nepal
05. Bhutan



Q-120 WHIUld Th URNE AIBR &:
hi

01. AR 02. SRR

03. ot der 04. TS

05. YeH
Solution for Question 120 Ans Key: 4
eng Fulpati is observed on the seventh day of Dashain festival. In Nepali,"Ful" means flower and "Pati" means leaves and plants. There is a

tradition in Nepal to bring nine types of Fulpati into homes on the seventh day of Navaratri.
hi 3Tafa uégwdq‘ fed Terufa ‘—'I%TITUIICI gl ﬁuﬁ%wj&%&mgum&muﬁw&mgqﬁ 3R
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Q-121 Which of the Phrases (1), (2), (3) and (4) given below the sentence should replace the phrase given in bold in the sentence to make it grammatically
eng correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.

Visitors having access to restrict areas in the stadium are being monitored

01. access too restrict areas 02. access to restricted areas
03. access to restricting areas 04. access to restriction areas

05. No correction required
Q-121 YIS e H Ywifdrd araaiy &1 - fad M arani=it (1), (2), (3) 3R (@) H A s gR1 ufanfid e WR & mman a1 sarerur &
YR IR XS 81 S| I & a1 a1 g 8 SR el ot YFGaor ot srmaxadsdr g1 8 o SiUA1 SR (5) GifvTg |

RO 99 Ugd § 319 I & WG THNS & [AHIT BT 7aRI 3@d gU 96 86 HATHR & TaY 3R IUD! WIEA-JP B aWd & a9 ISP
BR-Sd, G g1 &1 B Iual &1 TEL-Ta! igTol T oI 2|

01. PHIAd B Iel-Tal paT AT Sar gl 02. HHd BT Tel-TgT g A g |

03. HIAT BT TTHT TL! ST T SAT S | 04. e T Yal-Tg! RAd T Sar 3 |

05. B GYR HITH T8I 8|
Solution for Question 121 Ans Key: 2

‘access’ is always followed by ‘to’; ‘restricted’ would serve as an adjective

DI I Ug-Tg! SfeTell O STl 6 |

Q-122  Which of the Phrases (1), (2), (3) and (4) given below the sentence should replace the phrase given in bold in the sentence to make it grammatically
correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.

The committee will draw up both short-term and long-term plans to ensure that people in all parts of the district get potable water.

01. potable get water 02. got potable water
03.  get water potable 04. get which potable water

0S. No correction required
Q-122 UAS e H Jwifdrd ety &1 - fad M araii=it (1), (2), (3) 3R (4) § 9 b g1 ufanfid v IR & mran a1 saravur &
hi YR TR Y[ BT ST | TfE T 71 a1t Qg § 3R [t Hi YAGHR0T Bl SM1aRarehdl g1 8l (U1 3R (5) SioTe |

%%Waﬂéauwaﬁwﬁ@rwww, 3R 31 TEHR I ST TRT Sfia Af IRt &b fievon & siffa #3
|

01. %wﬁ%&ﬁwwﬁﬁaﬁam 02. AT TR & fAdreron 7 gaftfa o fean
|

03. %Mé?%ﬁﬂ?ﬂawﬁﬁwﬁam 04. AT WREECT & SgaaRon & o a fear|
|

05. PIS YR 3NaTTS Tel gl
Solution for Question 122 Ans Key: 5

eng ‘Potable water’ means ‘drinkable water’

Q-123  Which of the Phrases (1), (2), (3) and (4) given below the sentence should replace the phrase given in bold in the sentence to make it grammatically
eng correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.

At a time when the generators sales have increased due to long power cuts, the solar energy devices are still being preferred not.

01. not being still preferred 02. been preferred not still
03. still not been prefer 04. still not being preferred

05. No correction required



Q 123 mwﬁmwﬁﬁﬁaﬂﬁaﬁaﬂﬁm (2), (3) 3R (4) § ¥ b8 GRT U D TR {41 71 dTe HTehRul b

YR TR XS 81 ST | afe faam o a1ed Yg 8 ok fopeht o S avor ot sitawgasar 78T g f 3o 3R (5) v
gﬁTﬁmgsﬂﬁ:rw,a@ammaﬁmﬁa@wﬁﬁ%@wwwwaﬁ%w@wwﬁmw
T |
01. SRISE] &1 g UR MY | 02. HTHM P HIA UR 3T TTT Y|
03. SRTERI B FHIA W 3T J| 04. SRTSR DI Flg TR AT Y|
05. PIS YR 3MMaTS Tel gl
Solution for Question 123 Ans Key: 4
eng ‘Not’ should come after the adverb “still” followed by ‘being preferred’
hi el MY o R TR “ 3T Y BT TART HR |

Q-124  Which of the Phrases (1), (2), (3) and (4) given below the sentence should replace the phrase given in bold in the sentence to make it grammatically
eng correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.

Some traffic cops were seen struggling to keep the vehicles move at few crossings.

01. moving ata few crosses 02. moved at the few crossing
03. moving at a few crossings 04. moves in few crossings

05. No correction required

Q-124 UIF d1ag H J@ifhd AT HI A f&8 T A=t (1), (2), (3) 3R (4) B ¥ b gRT Uferymiid o3 oR o 71 ared el &
YR IR Y5 81 SIA | T faa 7mam a1 Y 7 3R et ot yfgaor ot simaaesdr gt § o oiuer SR (5) i

fore FHa <1 1 e A, Te et s Fhel o STav[ T o1 B AT AR ST T IGT T, S THI G BT ATHIOT SfuAT
FRERAT 3R HU-HIHAT & HRUI ST 7T YHTR I dfId I§HR R 3N Ydhe & HRUI HHYT: el Tal S 8T ATl

01. 7 I BT Xfad AH 3T I IGT YT, 02. T4 A1 B dldhd ADR 31T §¢ 38T I,
03. =S T B! Ufad AP M I QT YT, 04. T AT T Wi ABR 31 9¢ Tt o,

05. P GYR ATILH a1 8 |
Solution for Question 124 Ans Key: 3

‘A few’ would be used which means ‘many’

T F M R 3’ BT YGHT B |

Q-125 Which of the Phrases (1), (2), (3) and (4) given below the sentence should replace the phrase given in bold in the sentence to make it grammatically
correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.

The Mahatma Gandhi National Rural Employment Guarantee scheme has definitely given economic independence to rural women and brought off an
change in their social status

01. brought about a change 02. brought in some changes
03. brought a change 04. brought forth a changes

05. No correction required

Q-125 mamﬁ%@n%mammﬁﬁﬁﬁaﬂﬁammﬁm 2),3) 3R (4) H I o gRT uferfig B R fear mr are e &

hi YR TR Y5 &1 SR IS foram o arer P © AR fopaft ot Rfavor ot srmawadsar 7818 df oiu=1 3R (5) S|
%mm@?éﬁﬁﬁﬁﬁﬁmﬁmwwwﬁmwwaﬁmﬁvﬁm%ﬁmﬁ 3N B & Tg areH 9§
T Tl

01. GfafhaTarc THTS &) IR B fear 02, Ufdfehar e TS &I Sitd for
03. gfafohar THISAIE! &1 IR B3 fed1 04 Ufdfsharare JHTS &1 @Rl & fear

05. PIS YR MILTH TeIg
Solution for Question 125 Ans Key: 1

eng ’Brought about’ means ‘make happen’

hi gfafparare & RIM IR ufdfhamarc)” & TanrT &3 |

Q-126 Read each part of the sentence to find out if there is any error in it. The error, if any, will be in one part of the sentence. The number of that part is the
eng answer. If there is no error, mark your answer as (5).

People should try to learn (1)/as many languages as possible (2)/because language is (3)/beyond region religion (4)/ No error (5)



01. 1 02. 2
03. 3 04. 4

05. 5

Q-126 = fear T ud® g IR U Fer M g 1 7’ (1), 2). (3), (5) 3R (5) HHI® UMY B AU T8 3|1 © % a1y & fopaft wmr &

hi STHT, HTST, i1, Rea | o TTeid YA a1 3T aRE DI b1y F(S SAR I oY are o fordt wep W1 & 81 g1l | 39 YT 7 hHiah 8t SR 8 |
3R I15 TET § A1 IR (5) i B refeg T g i

%ummwgmﬁnw-u@w%, 1)/ o T I Y (2)/T SUTG T8 81 U1 8T § 3/ Bt WiIE 8 1(4)/PTs RIS el

I3
01. | 02. 2
03. 3 04. 4
05. 5
Solution for Question 126 Ans Key: 4
eng ‘region and religion” should be used

Q-127 Read each part of the sentence to find out if there is any error in it. The error, if any, will be in one part of the sentence. The number of that part is the
eng answer. If there is no error, mark your answer as (5).

Madhubani paintings were (1)/originally created on walls (2)/plaster with layers of (3)/cow dung and mud (4)/ No error (5)

01. | 02. 2
03. 3 04. 4
05. 5

Q-127 R fea T U@ ared IR YR A el T 8 | 9/ (1), (2), (3), (5) 3R (5) HHid [T T & | 3HTUeh] T8 391 5 fob a1 o Tt UT o
TSHRUT, UTHT, T, e ! 1 TTeid TRNT 1 S a8 Bl Dis Jfc 3FR Bt oY a1 & fobdt Ues | o €1 81ft | 3 | o7 shHih g STR 3 |
3R 919 1 ® ol SR (5) 3l ‘s argpfg e Rl

g 1 YR fohebe A &Y (1)/31=31 a8 TS -1 el S (2)/fayey St iR fasy g &1 @y/aie 3R =de & g7 8T 3a-

31T S B 1(4)/TS SIS T2 1(5)

01. | 02. 2

03. 3 04. 4

05. 5
Solution for Question 127 Ans Key: 3
eng ‘Plastered’ should be used- which would work as an adjective for ‘walls’

Q-128 Read each part of the sentence to find out if there is any error in it. The error, if any, will be in one part of the sentence. The number of that part is the
answer. If there is no error, mark your answer as (5).

Everyone gives sermons under(1)/ cleansing the political system (2)/but no one seems interested (3)/in belling the cat (4)/ No error (5)

01. 1 02. 2
03. 3 04. 4
05. 5

Q-128 i fan T vdw a1 IR YN 8 dfet T 81 518 (1), (2), 3), (5) 3R (5) FHis fAU MU § 1 3Mueh! a8 381 ¢ fob ara & famdt umm &
hi STHT, HTST, i1, Rea | ! TTeid YT I1 ST ARG DI b5 F(e SAR I oY are & fobdt T W1 & 81 81l | I YT 7 hiiep &t SR 8|
3[R aTe TET R dl IR (5) 3] ‘s gl TeT R Al

He IATe (1)/31R 4R AN (2)/F T T3 B Wt (3)/ BRAT bl 8 |4y Bis 3G LT 1(5)

01. 1 02. 2

03. 3 04. 4

05. 5
Solution for Question 128 Ans Key: 1
eng ‘On’ should replace ‘under’ — to make the sentence grammatically correct

Q-129 Read each part of the sentence to find out if there is any error in it. The error, if any, will be in one part of the sentence. The number of that part is the
eng answer. If there is no error, mark your answer as (5).



A free medical checkup (1)/ and blood donation (2)/camp will be (3)/ organized tomorrow (4)/ No error (5)

01. 1 02. 2
03. 3 04. 4
05. 5

Q-129 =R femr M ud® g IR W A ST T g 1 7’ (1), 2). (3), (5) 3R (5) HI UMY B AUk T8 3|1 © {3 a1y & fopaft wmr &
hi STHT, HTST, -1, Reat o TTerd YT a1 3 aRE B Big F(S SAR I oY are & ol wap Wi & 81 g1l 39 YT 7 shiah 8t SR 8 |
3R J15 TET § A1 IR (5) i BT refes e g i

Ty 2008 T 3R F 1Y §T (1)/ATTRS TRHTI, THIA B ST SITHT U8 (2) o fe=n & wam] <1 fadas @3y 98 Heayuf 81

@) D3 S TSR I(5)

01. | 02. 2
03. 3 04. 4
05. 5

Q-130 Read each part of the sentence to find out if there is any error in it. The error, if any, will be in one part of the sentence. The number of that part is the
eng answer. If there is no error, mark your answer as (5).

A certain crop grown in a sunny (1) /and hot climate needs per day more (2)/ water than the same crop grown in a (3)/ cloudy and cooler climate.(4)/ No

error (5)

01. | 02. 2
03. 3 04. 4
05. 5

Q-130 T fea T U@ a1ed IR YT A e T 8 | 9/ (1), (2), (3), (5) 3R (5) i fAU U & | 30! T8 391 5 foh a1a & Tt umr o
TSHRUT, HTHT, T, e ] Y TTed TINT 1 S a8 &I Dis Jfc 3FR B o) a1 & fordt wes | o €1 g17it | 3 | &1 b g1 STR 3 |
3R IT9 1§ ol SR (5) 3l ‘s argfg e ARl

ARG S TTel G & T (1y/Aaer 3R IUaTe! 81 78T, 2y SMuRIYS TR W 3)/aS! gt a9 a1 gU B 1d)/dIs RIS 818 1(5)

01. | 02. 2
03. 3 04. 4
05. 5
Solution for Question 130 Ans Key: 5

eng

Q-131 Inthe following question, a sentence with a blank space is given. Below it five words have been denoted by numbers (1), (2), (3), (4) and (5). Find
out which word can be filled up in the blank to make the sentence meaningfully complete.

The law should get stringent and petrifying so that people shiver before committing a----------- .

01. corruption 02. violation
03. wrong 04. ham

05. crime

Q-131 4 &1 vafgar sarzd
3

01. SRS 02. gfy
03. TE® 04. fagm
05. Uy

Solution for Question 131 Ans Key: 5

eng Crime
For other options:
Violation (n)- not obey rules

Q-132 Inthe following question, a sentence with a blank space is given. Below it five words have been denoted by numbers (1), (2), (3), (4) and (5). Find out
eng which word can be filled up in the blank to make the sentence meaningfully complete.

As both groups started throwing stones at each other , the nearby market got---------------- .



01. ended
03. closed
05. met

Q-132 Fu o wafgard sad

hi .
STt

01. STH

03. fafom

0s. fafer
Solution for Question 132

02.
04.

02.
04.

restricted
locked

Ans Key: 3

eng Closed
For other options:
Restricted (v)- limited

Q-133 Inthe following question, a sentence with a blank space is given. Below it five words have been denoted by numbers (1), (2), (3), (4) and (5). Find out

which word can be filled up in the blank to make the sentence meaningfully complete.

Having a good anti-virus installed does not mean it is safe to click and

01. input
03. transform
05. revise

Q-133 &1 wafgard adsa
&

01. =7

03. Afe

05. foid
Solution for Question 133
eng Download

For other options:

Transform (v)- change
Revise (v)- rethink and change

02.
04.

02.
04.

download

tum

Ans Key: 2

Q-134 In the following question, a sentence with a blank space is given. Below it five words have been denoted by numbers (1), (2), (3), (4) and (5). Find out

eng which word can be filled up in the blank to make the sentence meaningfully complete.

Properly designed building and structures can stand

01. for
03. at
05. upon

Q-134 1w o wafgard sad
Uld:hTd

01. fagM

03. iR

05. o)
Solution for Question 134

02.
04.

02.
04.

300 years.

Ans Key: 1

eng For

Q-135 Inthe following question, a sentence with a blank space is given. Below it five words have been denoted by numbers (1), (2), (3), (4) and (5). Find out

eng which word can be filled up in the blank to make the sentence meaningfully complete.



Working women playing several roles have little or no time to ---------- to fitness.

01. apply 02. bless
03. devote 04. assign
05. oppose

Q-135 Tu o wafgard sasd
" Rgw

01. fayfa 02. f9¥RG
03. fAcfy 04. forfa
05. favg
Solution for Question 135 Ans Key: 3

eng Devote
For other options:
Assign (v)- attach
Oppose (v)- go against

| Passage for Question 136, 137, 138, 139, 140 (ST-112 RRBBCL (141-145)) |
eng Passage

Rearrange the following sentences (A),(B),(C), (D),(E) and (F) in the proper sequence to form a meaningful paragraph, then answer the questions given below
them.

(A) But their role is restricted to ensuring that the traders have proper licenses and the animals and birds are disease-free

(B) The thriving illegal trade of endangered species on the web points to loopholes in the Wildlife Act, 1972

(C) Though once in a while action is taken against those who breed and sell exotic species but it doesn’t seem to deter traders.

(D) The Act covers only species that are endemic to India. Birds and animals that are imported do not have any kind of protection.
(E) Itis high time the law is amended to put a stop to illegal trade in all endangered species, irrespective of their origin.

(F) In such cases, the onus is on state governments to keep tabs on sale of endangered species.

hi Passage
9 (A), (B), (C), (D), (E) 3R (F) P! 3T aRe AR ST e B81 oyl o1 U 3rdyuf ufd g a9 S|

A) 39 f3eE ) TR §91 P U 3a3S HeH IS E B }

B) T 1979 B §T YR fpdve &1 & tiferear SR & 2l W a1d g3 Ul I8 & dad & e fRUR 3fegd PIfR & HRIR BT 3fd 3R gt
| g1 o HEY 98 SeidS e dgadR BT 3ad |

(C) TPIPd Ig ¢ b T for frht Shuaiare & et i RerR 81 o6 dl S9! HeT-idl & Bis bl e o arelt|

(D) AR P U Ui #7 T I35 HIR B 39 Hex YA fP fhr 37 Taarh @1 ag Tef i urg |

® I Qe e ¥ Hit TET e wifes Rerrde & are 1 3 3iom 91 aral & fedl UR el AT 8

(F) TG 91 BRI 24 WIS QR g IR aron ey 98 8 1 9@ afd dgae & Rerrde &t 91d 9a @l g |

[
Q-136  Which of the following would be the SECOND sentence after rearrangement?

eng
01. B 02. A
03. E 04. F
05. D

Q-136 TR & YIHRIT & FIG, R aTad B T g
hi

01. B 02. E
03. A 04. F
05. D

Solution for Question 136

Ans Key: 5

eng The arrangement is BDFACE. The paragraph is about the proposed amendment in the Wildlife Act, 1972 and the reasons for the same.

Q-137 Which of the following would be the SIXTH sentence after rearrangement?
eng

01. A 02. C



03. E 04. B
05. F

Q-137 TRII & GIHaRIT & FIG, ToT aIad S FT g
hi

01. A 02. C

03. E 04. B

05. F
Solution for Question 137 Ans Key: 3
eng The arrangement is BDFACE. The paragraph is about the proposed amendment in the Wildlife Act, 1972 and the reasons for the same.

Q-138  Which of the following would be the THIRD sentence after rearrangement?

eng
01. B 02. E
03. A 04. F
05. D

Q-138 I & YAHARIT & §1G, THRT A1 DI |1 g
hi

01. B 02. E
03. A 04. F
05. D
Solution for Question 138 Ans Key: 4

The arrangement is BDFACE. The paragraph is about the proposed amendment in the Wildlife Act, 1972 and the reasons for the same.

Q-139  Which of the following would be the FOURTH sentence after rearrangement?

01. C 02. D
03. B 04. E
05. A

Q-139 TR & GIHaRT & §TG, TUT a1 DI IT gRM?

01. B 02. C
03. D 04. E
05. A
Solution for Question 139 Ans Key: 5

The arrangement is BDFACE. The paragraph is about the proposed amendment in the Wildlife Act, 1972 and the reasons for the same.

Q-140  Which of the following would be the FIRST sentence after rearrangement?

eng
01. B 02. E
03. A 04. F
05. D

Q-140 T &Y YTHTRIT & FTE, Tl 19 DI IT RT?
hi

01. B 02. E

03. A 04. F

05. D
Solution for Question 140 Ans Key: 1
eng The arrangement is BDFACE. The paragraph is about the proposed amendment in the Wildlife Act, 1972 and the reasons for the same.

7 Passage for Question 141, 142, 143, 144, 145, 146, 147, 148, 149, 150 (ST-81 RRBBCL (121-130) 2014 7021)
eng Passage

Read the following passage carefully and answer the questions given below it. Certain words have been given in bold to help you locate them while
answering some questions.



Rising incomes, a growing population of young Indians and a greater willingness to spend on leisure have together given a boost to the amusement industry.
Most cities lack lung spaces and malls are emerging as the only entertainment-cum-shopping destinations. Amusement parks are seen as a welcome alternative. That
explains why Mumbai alone has so many of them — EsselWorld, Water Kingdom, KidZania, Adlabs Imagica and Nishiland.

Amusement park refers not only to a collection of dry and wet rides, snow parks and shopping malls, but also other entertainment options such as theatre and folk
dances in a defined space. Most large parks in India have opted for a one-price formula, with a single entry fee offering unlimited rides.

“Every year 15-20 per cent growth is seen in this sector— be it the expansion of existing parks or the setting up of new ones,”

The absence of large open spaces and entertainment options in the metros had prompted Wizcraft International Entertainment, to set up Kingdom of Dreams in
Gurgaon in 2010. Nothing like this existed in India before. Kingdom of Dreams boasts an elaborate arts, crafts, and culinary boulevard with street performers and
a Bollywood-themed café. Its auditorium and amphitheatre host live productions, including musicals.

On the flip side, amusement parks call for high investments and involve long gestation periods. This capital-intensive industry requires continuous investment.
“Entrepreneurs need to regularly introduce new rides to retain visitor interest.” That also explains why many parks have shut down over the last few years. A bigger
challenge, is in getting approvals for large land parcels as they are usually delayed, often until after work begins. As loans for amusement parks are a difficult
proposition, entrepreneurs end up borrowing at market rate, which is not feasible in the long run.

“Typical land parcels for parks are valued at a minimum of 25-30 crore. If land price goes up, some entrepreneurs feel it is best to cash out.
Most of the rides at Essel World , India’s biggest amusement park are imported. “The cost of bringing them into the country is very high. The duties and installation
and maintenance charges add to it, making both capital and operating expenses high.”

Some of the big imported rides can cost up to 40 crore. But the ticket prices barely cover these costs. At 1,500, a Wonderla ticket is way below Disneyland tickets
starting from $100 (6,000), excluding food, beverages and souvenirs. “Indians are way behind international peers in terms of revenue as they have to price their
entry tickets according to the paying capacity of the average Indian customer.

Essel World in Mumbai and Wonderla’s two parks in Kochi and Bangalore are operationally profitable. While 80 per cent of the revenue for Indian parks comes
from tickets, the rest is from food, locker rentals and photography. “In the West, this ratio is 50:50. So one needs to come up with methods to ensure more sales
within parks, such as through merchandise, to increase revenues as raising ticket prices is not much of an option.”

Wonderla has developed 40 of the 120 rides it offers in-house, including the roller coaster, water slides and 5D theatre. This nearly halves the cost, proving to be a
huge saving as most rides cost upwards of 10 crore.

Although there is demand for more amusement parks, their future will depend on the speed at which they innovate. In coming time the amusement park will be more
interactive and will defy all laws of physics through digital mediums and park attractions will be condensed into mobile apps, integrating entertainment with daily life.
But till such time, park owners and entertainment seekers alike will continue to head out to the wide open spaces for a thrilling ride of their life.

hi Passage

fafified T &1 eryde ST Hifeid a 358 -a fou T Uil o TR SIfoTe | U9l T STR ad THY 31U TeTadl & [t e Xeal
Fgiferd fpar g

3T YR § fob aroafg dad [ GRT SUSITS T ST © | IRad § THG fohar- ey eRdl & Fgd g dTUaM & U S & fore g Iorarit

8| UG & Xaa: §IF 1ol 9gd-9l Wiehand ot Aqis &1 HRUIE | a1 - argf & IR agd-91 RN &1 ¢ | YIS 41 &1 ScioH: GAR

IR0 Y el Tag H UG HHeed T g & 3 a1el U1 ) Jedl 0 3 3l & | hereaey ed! 7TH 81 ol & 31K 3farad fafdur

Svﬁ?%%ﬁm)wﬁhm—cﬁ%Eﬁﬂ%@ﬁﬁﬁg@@gﬁ&ﬁﬂﬁﬂ%ﬂﬁﬁ%ﬁﬁ,%ﬁﬁfﬁﬁﬁ,ﬁﬁmsﬁ?wmﬁ 1 gt
|

c

BTl MET3H Gl &1 gAR Siia= H agd Iuairar ot 81 afe 3 1 9 g oY g} eRft &1 ATasT= 31 4 8 SITU &1 gedt UR Sfta b
FHegaT ft At o Wl | IR ot & ufkad: 39 ufteeu & AR g &1 adg W g arel siftifssarait &t A # uftada g & SR
Y 3 I YHTI B TG & WIY-T1Y URGd 8IdT1 8T 8 | URl 1 Hafl o URad: D! gRT g8 THIaAT Hf o7ad &t ST e 8 foh Rt &
IRT SR GO aTelt el B uiRad- g1 T 5 | It &1 el B Bic ¥ uRad o 2 geat gR1 G I UHTRI Tg0 I &1 01 H URY SfcR 3 qHal g |
ST :WW%WW—@Wﬁ@W%GﬁT ¥ qIATaRUT ) el Tag IR o1 81 St 8 | fewge
1 3id: YT I & T1e1 & IR o8 THT 3RTa & 18 eRlt 1 3R 3 Bl @ 81 3 el b RAgr g1 ol 2 | Tt 311wichT ol
B ST 8 3 et ondt el fergn I I 36 § ok ey dR-R 7 g1 6 81

Q-141 Whatare the challenges faced by amusement industry in context to the passage?
eng

01. Difficulty in retaining the interest of the 02. Getting approval for large land parcels.
visitors

03. Missing of zeal among youth towards 04. Only 1 and 2
amusement industry.

05. All of the above

Q-141 AW &I {5y THTT BT IURGRN THT S @1 82
hi

01. SEST & 02. W T3 M1 P o
03. 3FARA UHIR Io 04. eR<ht & IIAE B gfG
05. I gt

Solution for Question 141 Ans Key: 4



eng The answer can be inferred from the fifth paragraph.
Q-142  Which of the following is a part of amusement park in context to the passage?
eng
(A) Dry and wet rides
(B) Snow parks and shopping malls
(C) Theatre
(D) Folk dance shows
01. Only AandD 02. Only AandC
03. Only A,CandD 04. Only A
05.  All of the above
Q-142 FHfIRad & ¥ {58 qUals &1 SR 81 T o ¥hd1
hi

01. TG T 3R™ 02. STl fawple
03. I BT3T T} BT ITol 04. eRcht B FHe F aRadd
05. TR ol & ufkad=

Solution for Question 142 Ans Key: 5
eng The answer can be inferred from the entire passage.
Q-143 Why we Indians are far behind than international peers in terms of revenue recognition?
01. Most of the slides used by Indians are 02. [nstallation and maintanence charges are very high thus leading to reduced profits.
imported.
03. Lack of skilled and trained worker to 04. Pricing of the entry tickets are done according to the paying capacity of the average Indian
operate and maintain the slides. consumer
05.  All of the above
: e~ o A
Q-143  HF 839 A &b Iosi- & 1 It Ardiy nfafafial Strerd 7gi e
01. SATRH! BT ST 02. BN P
03. P P 04. T &t e TR B aren iffgpard
05. JaRPb!d PHIeATID] BT UFRT
Solution for Question 143 Ans Key: 4
eng The answer can be inferred from the seventh paragraph.
Q-144  Which of the following is the feature of Wonderla” amusement park in context to the passage?
01. 40 out of 120 rides of Wonderla are 02. Wonderla’s two parks in Kochi and Bangalore are making profits.
developed in house.
03. Wonderla’s pricing of tickets is far 04.  All of the above
expensive than that of this Disneyland.
05. All except 3
Q-144 T W &3 T 7 Iufla g ot Fan geafomy g
hi
01. eRct o 19 H Al gig 02. g & UHTI BT 4Rl TR A 3 a1
03. SIS fwme 04. fREgIT T 3fq
05. Rt & 10 H 31D Bl
Solution for Question 144 Ans Key: 5

eng The answer can be inferred from the seventh and eigth paragraph.
Q-145 Which of the following statements is/are TRUE in context to the passage?
eng

(A) Amusement park involves long gestation periods.
(B) Every year 15 to 20 percent growth is seen in amusement sector.

(C) 80 percent of the revenue for Indian parks revenue come from tickets, rest is from food, locker rental and photography.

(D) Park attractions will be condensed into mobile apps, integrating entertainment with daily.
01. OnlyA&D 02. OnlyB&C



03. All except D 04.  All of the above

05. OnlyA&C
Q-145 ¥ fagm & forg ararat= gy
hi

01. Tt b1 e § Hafere fawm 02. gl 1 HdE ¥ Heiferd oz

03. G &Y SfiaRes Te A YafUd fag 04, el & vgfaRor § Haiferd fasm

05. Rl TR BA areit gerel § Jeiferd

fagm

Solution for Question 145 Ans Key: 4
eng The answer can be inferred after reading the passage carefully.

Q-146 What s the tone of the passage?
eng

01. Rhetoric 02. Persuasive
03. Informative 04. Cynical
05. Argumentative

Q-146 T F g & Fufafad & ¥ $19 WA &3 93 8/8?

. A) 328 T F gt I T SR e fafdRor w1 I Bt 2
(B) eRell o Yo Sfes H URGel & qedl & qrom A g S €
(C) ST § e arelt WHeT3d T eRt & ardiarvr &f feel 9ag R SH gt 8 |
01. HId A 02. HddB
03. A3RC 04. HIAC
05. T ABTC
Solution for Question 146 Ans Key: 3

The Tone of the passage is informative as the passage describes and informs about various types of amusement industry.

Q-147 Choose the word most SIMILAR in meaning to the word given in bold, as used in the passage.

Gestation

01. Ripening 02. Multiple
03. Cognitive 04. Evolution

0S. Morphed
Q-147 TR H YA & SIUR TR, IWifdhd Weg & Mpedd THMHIT Weg &1 79 PifoTg |

IugfRyEr

01. HIgIRDdl 02. IUTGHA
03. TNl 04. Ifpdm
05. YU
Solution for Question 147 Ans Key: 4

eng For other options:
Morphed (adj.)- modified
Cognitive (adj.)- involve reading and understanding skills.

Q-148 Choose the word most SIMILAR in meaning to the word given in bold, as used in the passage.

en
& Defy
01. Disregard 02. Apply
03. Endure 04.  Accept
05. Revive
Q-148 TN H YANT & 3R R, IW(fohd Wsg & Mdhead TAMT Weg &1 994 SHifoTg|
hi

SUSITHET



01. ST HIAT 02. 3T
03. ST 04. TS HAT
05. QT AT
Solution for Question 148 Ans Key: 1

eng Defy (v)- openly resist or refuse to obey; disreagrd.
For other options:

Endure (v)- to tolerate
Revive (v)- restore to life or consciousness.

Q-149  Choose the word which is most nearly the OPPOSITE in meaning as the word given in bold as used in the passage.
eng

Leisure

01. Relax 02. Work

03. Comfort 04. Quiet

05. Ease
Q-149 TN H TANT & 3R UR, I@(fohd Weg & Mdpead fauiardf 2rsg &1 99 Fifor|
hi

JERHAT

01. 3T 02. g AT

03. IHHE Tl 04. AT

05. RTgd Ul
Solution for Question 149 Ans Key: 2

Leisure (n)- time when one is not working or occupied; free time.

Q-150 Choose the word which is most nearly the OPPOSITE in meaning as the word given in bold as used in the passage.

Boast

01. Bluster 02. Flaunt
03. Brag 04. Conceal
05. Show

Q-150 TTRIIRT T TRINT & SMIYUR OR, Wi eg & Hapedd [quRidnrlf qsg &1 99 Hiforg|
g e

01. 3 02. YROT

03. IJUYRM 04. Rrgid

05. BTcUID
Solution for Question 150 Ans Key: 4
eng Boast (v)- talk with excessive pride and self-satisfaction about one's achievements, possessions, or abilities; brag.

For other options-

Bluster (v)- talk in a loud, aggressive, or indignant way with little effect.
Flaunt (v)- display (something) ostentatiously, especially in order to provoke envy or admiration or to show defiance.

Passage for Question 151, 152, 153, 154, 155, 156, 157, 158, 159, 160 (ST-84 RRBBCL (141-150) 2014)
eng Passage

In the following passage there are blanks each of which has been numbered. These numbers are given below the passage and against each five
words have been suggested, one of which fits the blanks appropriately. Find out the appropriate word in each case.

India has cut royalties that local seed companies pay to Monsanto Co. for the second time in two years, potentially fuelling another row with the U.S. company that
(A) to leave the South Asian country. Ministry of Agriculture & Farmers Welfare has decided to reduce (B) paid by Indian seed
companies to Monsanto for its genetically modified (GM) cotton by 20.4 per cent, said a government order released. In 2016 the Agriculture Ministry cut
Monsanto's royalties by more than 70 per cent, triggering a long-running (C) that drew in the Indian and U.S. governments. “It is unfortunate that
today's order further erodes trait fees (royalties), which are now less than 0.5 per cent of the cost of cultivation, while the technology continues to provide
(D) to farmers across India,” said a spokesman for Monsanto's India joint venture, Mahyco Monsanto Biotech (India)(MMB).

Cotton has been a success story (E) Indian agriculture with a sharp jump in both output and exports, the MMB spokesman said, but noted that the



sector (F) a predictable business environment to attract investment. As well as cutting Monsanto's royalties, the government also lowered the prices of
GM cotton seeds by 7.5 per cent to Rs.740 ($11.39) for a packet of 450 grams to help farmers who are struggling with pest infestations. Reuters last week
reported the government plan to cut Monsanto's royalties and lower the prices of GM cotton seeds. Farmers buy GM cotton seeds from Indian seed makers who
pay to use Monsanto's proprietary technology to produce them. Producers body, the National Seed Association of India (NSAI), threatened to halt supplies to 8
million cotton farmers to protest the planned move to reduce seed prices. “The new, low price would (G) impact seed supply and seed availability this
year. And also next year's seed (H). NSAI may even file a writ petition against the government decision. Seed prices have fallen since 2011 but fuel,
labour and other supply chain costs have risen. “NSAI advocated for an increase in cotton seed prices to at least 150 rupees a packet. But the idea was ignored,”
he said. Last year the government kept both the royalties and the retail prices of GM cotton seeds (I). More than 90 per cent of India's cotton crop is
genetically modified. In 2017/18 India's cotton output is set to rise by 9.3 per cent but still short of the record high (J) by industry analysts because boll
worm caused damage in some regions.

hi Passage

9 few U o3 A o Rad W Bie U MU § qur 3= vy I @ exifar T 3 1 3 Sed uRde & A qfed ¥, ok ude & 9 A (1), (2),

1}

(3).4) 3R (5)faded feu MU | 37 UiEl B A B U 39 Rad wH B R uRBe & deuf B Iuged o1 997 A1 7 |

T S5 WHRITANY HaH @ fobdl TR aolld A 80 &1 U 3T (A) BT 3ull a1 | BSOTS U1 A1 fdh1 T (B) B TR B8 Asibdl IR ol Bba Bl
e SRR A1 B Al 8| ST AT & U101 Y 71 S, AfeT () MR faesfa &1 aoig T 91 1 Sia" HPAT 81 A1 8 | S 3]
BT I AAR YIBT FHRA B 2 ST SURTY BT it & Sewm | Teifep 1 o Ueh U1 SRTY 8, o fait (D) 7 ST gHR 81 1Tl § S8R
BT Y STET (E) T& A Ul | O B1g WIhR DIs §8T 3URTY BT 7, 98 39 (F) ¥ orgn Sl &, Afdh a9 I 39 3U1Y Bt (G) Igd ddallh
YT %|mﬂ-mﬂ;ﬁégﬂéw‘raﬁﬁ%l%ﬁﬁ%aﬁhmﬁﬁn@mﬁmﬁﬁﬂﬁmé?mﬁmsﬂﬁanaﬁWW|a

954 3 §, 2 o gfer, =mifees ST et & (1) 9 1 SRR A 3IRTY & RIGRI &1 =ard um 1 Bk & S foreed sk
ﬁéﬁ%ﬂﬂﬁéﬁgﬁm%’,%sﬂaﬁaﬁwﬁﬁwwﬁ%Ww%muﬁw,wamwﬁ%@aﬁéﬁ% A ot
(J) 3T ST 2|

Q-151 Choose the correct option for (A).

01. threatened 02. prescribed
03. described 04. finalized

05. monitored

Q-151 (A) & o Ua! fadbey &1 o9 B

01. 3WRTY 02. 3HIPR
03. IUgd 04. ST
05. 3THR
Solution for Question 151 Ans Key: 1

For other options:

Prescribe (v)- To set down as a rule or guide
Shock (v)- startle

Monitore (v)- watch carefully

(Q-152  Choose the correct option for (B).

01. turnover 02. motivation
03. system 04. royalties

05. termination

Q-152  (B) & for g fashed &1 9= H|

hi

01. famrg 02. Sgaflq

03. FER 04. TRy

05. TuAq
Solution for Question 152 Ans Key: 4
eng For other options:

Turnover (n)- coup, innovation, insurgency

Q-153  Choose the correct option for (C).
eng

01. trade 02. feud
03. wealth 04. bankmg



05. nuclear
Q-153 () & o Ugl fdded &1 9g 1 |

hi

01. fagerar 02. faguar

03. TaRT 04. fowHar
05. g™
Solution for Question 153

Ans Key: 2

eng Feud (v)- quarrel, fight, argue, bicker

Q-154 Choose the correct option for (D).
eng

01. income 02. flow
03. story 04. value
05. multitude

Q-154 (D) & iR UE faped F1 TTA HR|

hi

01. gy 02. TR
03. Hfgar 04. aT
05. RIS

Solution for Question 154

For other options:
Multitude (n)- large group

Q-155 Choose the correct option for (E).

01. at 02. with
03. by 04. for
05. n

Q-155 (B) & ford el fdsved b1 oo x|

01. gmAdq 02. 3TeM
03. A 04. TGS
05. oy

Solution for Question 155

As per the sense of the passage, 'for' is correct.

afford

Ans Key: 3

Ans Key: 4

Q-156  Choose the correct option for (F).
eng

01. generated 02. volunteered
03. considered 04. checked

05. needed
Q-156 (F) % o Ugl fdded &1 9g 1|

01. 3T 02. 3T
03. ™ 04. 3fefi=ar
05. TRar

Solution for Question 156

Ans Key: 5

eng For other options-
Volunteer (v)- work for an organization without being paid.

Q-157 Choose the correct option for (G).
eng



01. definitely
03. previously

05. dubiously
Q-157 (G) & o) gt fabed 1 TgA AR

hi

01. REHR

03. THTHd

05. g
Solution for Question 157

02.
04.

02.
04.

curiously
shortly

fRrféra

Ans Key: 1

eng For other options:
Dubiously (adverb)- doubtfully

Q-158 Choose the correct option for (H).
eng

01. unfortunate
03. misfortune

05. revolution

Q-158 (H) & ford el fddved o1 9= R |

01. g%Ts
03. ggTIdm

05. grqufdr

Solution for Question 158

For other options:
Misfortune (n)- disaster
Contamination (n)- corruption

Q-159 Choose the correct option for (I).

01. [argely
03. full

05. unchanged

Q-159 (@ & ford ug! fahed BT IqH BR |

01. g

03. 3N

05. Hdg-T=iterdr
Solution for Question 159

02.
04.

02.
04.

02.
04.

02.
04.

production
contamination

changes
refuted

BIECIE]

Ans Key: 2

Ans Key: 5

eng For other options-

Refute (v)- prove (a statement or theory) to be wrong or false; disprove.

Q-160 Choose the correct option for (J).
eng

01. profound
03. predicted
05. preferred

Q-160 () & o) TB! fadey BT a4 B |

hi

01. TQd
03. gRadH
05. Scard
Solution for Question 160

02.
04.

. found
04.

dedicated

S

Ans Key: 3

eng For other options:
Profound (adj.)- intellectual




Q-161 Which key deletes the character to the right of the cursor?
eng

01. Backspace 02. Delete
03. End 04. Home
05. None of these

Q-161 B U FH5l B I HER & qlfe o fAerd 32

hi

01. 9HTg 02. f3aiic

03. 3US 04. T

05. 399 Y P13 g
Solution for Question 161 Ans Key: 2
eng Delete key deletes the character to the right of the cursor.

hi f&efic il PR Bl HER & qIfe I fFerdt 31

Q-162 What should be used if a company wants to include its company name and logo at the bottom of every page of a brochure?
eng

01. Header 02. Macro
03. Footer 04. Footnote
05. None of these

Q-162 1 YN {1 ST A1 Al T HUAT ST HUT T AT 3R ‘ANl BT U STISTR & YD g§ & dd UR AMHS BT A6l § 2

01. g 02. Teh
03. e 04. Thedle
05. 390 q DI Ag!
Solution for Question 162 Ans Key: 3
Footer add text or logo in bottom of every page.
HeR Udd U & Hid e a1 Al Silsdl 8 |
Q-163 is an event-driven programming language developed in the early 1990.
01. C 02. Visual Basic
03. C++ 04. Pascal
05. None of these
10 (X T U 3ac T3 TR 4TsT & St 1990 ¥ fyepfyd 3 i B
01. C 02. fasrd 9feh
03. C++ 04. URhd
05. T8 4 Pl g
Solution for Question 163 Ans Key: 2
eng Visual Basic is an event — driven programming language.

hi fag3ra IR U ae SSoTEaT TR TSI B |

Q-164 Linuxisa

eng
01. Utility program for peer-to-peer file sharing 02. Real-time operating system
03. Network operating system 04. PDA platform
05. None of these

Q-164 TR TH—--ooovmo gl

hi

01. TRR TR BRAIERIHA Ffom 02, Rgd ersy fRfeT Ren
qﬁﬁ%uﬁm

03. g STRfeT Ren 04. TrEIT Wewid
05. 399 q PIs el



Solution for Question 164 Ans Key: 2

eng Linux is a real time operating system.

hi o T Rad erzd SifaRfe Rieq 81

Q-165 The computer runs the front-end applications software in a network.
eng
01. Client 02. Database
03. Server 04. CPU
05. None of these
[0 0 11 J——— FHIYR dd T W< 38 VDI W adR Iardi g |
hi
01. FAS<T 02. SEEY
03. R 04. g,
05. T8 9 PIs Ta!
Solution for Question 165 Ans Key: 1
eng Client computer runs the front end application software and server computer runs the back end software.

hi FATSC B The U8 URIH M HIUCIIR I B & SR AR 9 UG HIUCdIR I Hd & |

Q-166 Which of the following is used for close a tab on a browser?

01. Ctl+T 02. Ctrl+W
03. Ctl+A 04. Ctrl+Y
05. None of these

Q-166 THH Y DI TSR R T B! §5 B fo TRANT fSham ST g2

01. Cul+T 02. Ctrl+W
03. Ctl+A 04. Ctrl+Y
05. 399 q PIs g
Solution for Question 166 Ans Key: 2

Ctrl+W is used for close a tab on a browser.

Ctrl+W STSOR TR 29 Bl §ic; B &b 1ord YA fbar S g |

Q-167 Each computer in 1s also identified by a IP Address which is unique among the computers in that

01. Internet 02. Intranet

03. Extranet 04. Ethernet

05. None of these
[0 5 13y A——— T IS SR T MY TSH GRT GRT UM AT § O G- T R & fou giie grar s |
hi

01. gee 02. 3T

03. TRSHT 04. SYAT

05. X I B3 8!
Solution for Question 167 Ans Key: 2
eng Each computer in intranet is also identified by a IP Address which is unique among the computers in that intranet.

hi ZCC H D HIYCR Dl b & USH gRI Ugdrdl Sildl g Sl 39 Sci-ic H g sidl 6|

Q-168 Which of the following displays the list of websites visited by you in last few days ?
eng

01. Status bar 02. Task bar
03. History list 04. Tool bar
05. None of these

Q-168 FHH I FH I, Ud oo ot & o gRT < 71 Jqursc! &) P veRfd aarg 2

hi



01. ReITR 02. RSP aR

03. fex}fore 04. TATR
05. X I BIS 8!
Solution for Question 168 Ans Key: 3
eng History List displays the list of websites visited by you in last few days.
hi R} feree, ;s a1 # fafsie fohd gu dersei o fere UaiRid drar g |
Q-169 Inthe original ARPANET, were directly connected together.
eng
01. IMPs 02. Host computers
03. Networks 04. Routers
05. None of these
Q-169 ¥ ARPANET ¥, ----commmeve- g T 1Y 98 gL 1
hi
01. IMPs 02. BRE HYR
03. “ead 04. I3TH
05. T8 4 PIs A8
Solution for Question 169 Ans Key: 1
In the original ARPANET, IMP(Interface Message Processor)were directly connected together.
Td ARPANET Ha] IMP(Interface Message Processor) ¥ t& 9~ 93 gu |
Q-170  Which is the valid data type in Access?
01. Text 02. Currency
03. Number 04. All of the above
05. None of these
Q-170 URY T S U ST UHR 82
01. ¥R 02. BT
03. TR 04. I T
05. 399 I BIS g
Q-171 A motherboard is a
01. central chip that processes instructions 02. permanent storage device
03. case containing all internal system 04. circuit board containing the CPU and RAM
componeiis
05. None of these
Q-171 TF TEREE - gIaTel
hi
01. J<d UM R URT BT S 02. R TR feargy
03. aft il RcA IupRUT A g 04. g 3R 39 gad Wi ae
Cal
05. T8 I PIs A8
Solution for Question 171 Ans Key: 4

eng A motherboard is a circuit board containing the CPU and RAM.
hi U Hedls HIUY 3fR A gord Teh Hidhe §lS 3 |
Q-172 A stylus would most likely be used with a

eng

Q-172

01. PDA 02. Mouse pad
03. Trackball 04. Digital camera
05. None of these

T WY I8 3ife gHfea T o d - F Iy IANT foar ST g1



01. iy 02. TIY s
03. Pl 04. f3fSrea e
05. 3TH ¥ P T8
Solution for Question 172 Ans Key: 1
eng A stylus would most likely be used with a PDA.
hi Toh WIS Bl Fd 3Hfereh JHTET © b a8 UISIT & Ty IUANT fobam o bl 6 |
Q-173  Which of the following is a read only memory storage device?
eng
01. CDROM 02. Floppy Disk
03. Hard Disk 04. All of the above
05. None of these
Q-173 FEAI o I el ARt WR feargy 82
hi
01 HEIIH 02. ATl fS%p
03. B8 & 04. IRYad Taft
05. 399 q PIs g!
Solution for Question 173 Ans Key: 1
CDROM is a read only memory storage device.
ISt I {IS S AARY TR fSaRd 5 |
Q-174  What s the short cut key to highlight the entire column in MS-Excel?
01. Ctrl +Page Up 02. Ctl+C
03. Ctrl +Space Bar 04. Ctrl +Enter
05. None of these
Q-174 THIY URA H YUl HIaH &l §RASE B & ol Rche il o1 82
01. Ctrl +Page Up 02. Cul+C
03. Ctrl +Space Bar 04. Ctrl + Enter
05. 39 I BI3 g
Solution for Question 174 Ans Key: 3
Ctrl +Space bar is the short cut key to highlight the entire column in MS-Excel.
Ctrl + Space bar THUY TR H YUl HIcH 1 GleAlse HR- & Q18 Qiedhe Hoi & |
Q-175 Which of the following is a programming language?
eng
01. MS-Excel 02. Lotus
03. Netscape 04. Pascal
05. None of these
Q-175 FEEI oM F uw urnfT urw g2
hi
01. THTY Tad 02. dcyg
03. JcEhY 04. URGd
05. T8 4 PIs G
Solution for Question 175 Ans Key: 4
eng Pascal is a programming language.
hi UReh e Teb TIATHHTT HINT & |

Q-176 Ina database, a field is a —-----.
eng



01. Lable 02. Table of information
03.  Group of related records 04. Category of information
05. None of these

Q-176 ICEUEH BIE Th----5 |
hi
01. ded 02. 3T T HIATA
03. Hafd Ry &1 T g 04. SHIHRE i goft
05. 90 q DI g
Solution for Question 176 Ans Key: 4
eng Database field is a category of information.
hi STy | Bice Aiid Rbls & THg I Gl 6|
Q-177 A faultin a computer program which prevents it from working correctly is known as ------- .
eng
01. Boot 02. Bug
03. Biff 04. Strap
05. None of these
Q-177 FIR UM H U S off IY T} &1V B A I AT 8, JH - Fed gl
0. g 02. &
03. f9FH 04. WY
05. 390 I PIs T8l
Solution for Question 177 Ans Key: 2
A fault in a computer program that prevents it from working correctly is known as Bug.
SR TIITH H U Biee ol <R bl Wl &7 J B1Y bR § b 2|
Q-178 A set of step-by-step procedures for accomplishing a task is known as a(n) —----- J
01. algorithm 02. hardware program
03. software bug 04. firmware program
05. None of these
Q-178 HH Ff &I W HA & forg XU 918 LU Uleha1 HT T Ue------- % 9§ ST a1 g |
01. TR 02. BIEAWR WUH
03. W ST 04. THITR U
05. 90 I IS TGT
Solution for Question 178 Ans Key: 1
eng Algorithm is a step by step solution of any problem.
hi TENRYH fbdl 4t JHRT BT LU I8 LU A
Q-179 The main directory of a disk is called the......... directory.
eng
01. root 02. sub
03. folder 04. network
05. None of these
Q-179 &% B AT SRFY P --cmmeeemee SRS el Al 5
hi
01. ¥=c 02. g4
03. T 04. “ead
05. 90 q DI T8t
Solution for Question 179 Ans Key: 1

eng

Main directory is known as root directory.

hi

T STRGCI] & ¢ SRRaCs] dadld gl



Q-180 A......... is a collection of data that is stored electronically as a series of records in a table.

eng
01. spreadsheet 02. presentation
03. database 04. web page
05. None of these
Q-180 ----- TS STeT &1 U AU ¢ ol il & Rl &1 U 4&d & U H SAde/ e R I JUgid fhar smarg |
hi
01. Wegie 02. Yol
03. STerey 04. IF U
05. 90 q DI g
Solution for Question 180 Ans Key: 3
eng Data base is a collection of data stored in electronically table.
hi STeT 39 S cad B ©R SIel &1 TUg gIdl g |
Q-181 When you create documents, graphs and pictures your computer holds the data in—
eng
01. Restore file 02. Backup drive
03. Clip board 04. Memory
05. None of these
Q-181 IId 319 SiFgA—<, U 3R o F1d § TH MMUBT HELR - 7 STeT YRl Rl & |
01. BrEd RER 02. IH3U gza
03. fdy sis 04. AERY
05. STH I PIS QT
Solution for Question 181 Ans Key: 4
Memory hold the document, graphs and pictures created by user.
ToR & RTS8 T SiagHce, At quT fUeeR e HHRT gice PRl g |
Q-182  Allare included in removable media except the—
01. CD-ROMs 02. Diskette
03. DVDs 04. Hard disk drive
05. None of these
Q-182 e D! Breax gt Rgaea Hifsar & i@ €1
01. CD-ROM 02. fg@pe
03. St 04. TS &b g5a
05. T8 4 PIs A8
Solution for Question 182 Ans Key: 4

eng Hard disk drive is not a removable media.

hi grefew Rijdaa Hifsar Agi 8 |

Q-183 The CPU and memory are located on the ---------- )

eng
01. expansion board 02. motherboard
03. storage device 04. output device
05. display board

Q-183  CPU 3R HHRI----mmooev R Ry g

hi
01. THIOH S8 02. HeRES
03. @R f¥aed 04. 33eye ¥y

05. feagad



Solution for Question 183 Ans Key: 2
eng CPU and Memory are located on the Motherboard.
hi CPU 3R AR} Hexale IR e 5 |
Q-184 A letter, memo, proposal or other file that is created using Microsoft Word is called as---
eng
01. Master 02. Slide
03. Document 04. Worksheet
05. None of these
Q-184 U U=, B, YUISTAl AT 30 Tl Sl HISH NI I8 BT STANT HR FARY TR oo PRIl
hi
01. TR 02. WSS
03. SR 04. gHe
05. T8 q PIs el
Solution for Question 184 Ans Key: 3
eng A letter, memo or other file created by MS word is known as document.
hi Ty, T A1 gES) BIad off TH TH 8 g1 818 1 §, SIRgHC Phoell 6 |
Q-185 Which of the following are parts of the CPU?
01. Secondary Memory 02. Control unit
03. Tnput device 04. Printer
05. None of these
Q-185 MR HI o wr iy & fgwm g2
01. FHUSI HAR 02. Hfel giie
03. 3Yc fSarg™ 04. foex
05. 390 q DI g!
Solution for Question 185 Ans Key: 2
Contol unit is a part of CPU.
Q-186 Which is not the portable computer?
01. Micro-processor 02. Calculator
03. Series Computers 04. Parallel Computers
05. None of these
Q-186 M e SR T 82
hi
01. HIZSH! TR 02. BRI
03. IRV PR 04. TREA P
05. T8 q PIs g
Solution for Question 186 Ans Key: 3

eng Series computer are not portable.
Q-187 Which of the following statement is false?
eng
01. You can set different header footer for even 02. You can set different page number formats for different sections
and odd pages
03. You can set different header footer for first 04. You can set different header and footer for last page of a section
page of a section
05. None of these
Q-187 FufifEd & A B 1 By 7Tad 32



01. 37U IH 3R fauH ggi & {oIU e 8802,  3HTU ST 3(HT 1l o ol (el U THR IRAC U< DR Jobd o
e T HX qhd §

03. 3T VI & UGA UST F fAW ST 04. 370 JRI b 7 U P o 31ehT B8R 3R Trigk T R Ahdl &
TSR TR AT R TP §

05. 370 q HIs ]

Q-188 shortcut key is used for Bold highlighted selection.
eng
01. Cul+B 02. Ctrl+A
03. Ctl+C 04. Ctrl+Z
05. None of these
(0 5 1.1, J— TEdHe FHoll BT TANT FTRAISE TAaRH B dIcs & o faan Srar g1
hi
01. Cul+B 02. Cul+A
03. Cul+C 04. Cul+Z
05. T8 4 PIs A8
Solution for Question 188 Ans Key: 1
eng Ctrl + B shortcut key is used for bold highlighted selection.
Ctrl + B RllcdhC dHoll ] TN GIRARCS AR P SIS B P 101¢ [T STl g |
Q-189  Other folders, named subfolders, can remain in the folders while creating hierarchical structure—
01. Mini folder 02. Tread folder
03. Subfolders 04. Object
05. None of these
Q-189 TRRINGH WFR --------- BT Ao FRa T 3T BiceR, AT IahiceR Bk | 81 38 Iod 8
01. T wieeR 02. S IR
03. 99 Hles? 04. 3fisside
05. TN q DI a1
Solution for Question 189 Ans Key: 3
Other folders, named subfolders, can remain in the folders while creating hierarchical structure subfolders.
hi BTRNBHT TR BT (AU HRA THT 3= ISR, AHd JIhIceR, Hiees H ol 3§ IHhd g |
Q-190  The following are included in the word program............. Title Bar, Ribbon, Status Bar, Views, Document workspace.
01. Window 02. Browser
03. Explorer 04. Website
05. None of these
Q-190 <Rcd SR, ReH, Wl IR, &, STRIHT TDH U -------- I8 T H e fpu T g |
01. fisier 02. STFOR
03. TRWRR 04. JsHTEC
05. 370 9 PIS G
Solution for Question 190 Ans Key: 1

eng 22272 222, 2222, 222222 222, 2222, 22222222222 222222222, 22222 2222 222222222 222 22222 222 22 2772
hi The word program Window included Title Bar, Ribbon, Status Bar, Views, Document workspace.
Q-191  Which topology requires a multipoint connection?

eng

Q-191

01. Mesh 02. Star
03. Bus 04. Rlng
05. None of these

frg el # T o] Wise H-ax P ATaRIHdT gl 82



01. Ay 02. ¥R
03. &9 04. R
05. T8 q PIs el
Solution for Question 191 Ans Key: 2
eng Star topology requires a multipoint connection.
hi R U H T Aed! Wige 1o Pl aRFehdl gl g |
Q-192 A..... is an additional set of commands that the computer displays after you make a selection from the main menu
eng
01. dialog box 02. submenu
03. menu selection 04.  All of the above
05. None of these
Q-192 TH..oo.. TR 1 T SHfARad Te § S Yo B § 799 HA & §18 SR UeRfd sar gl
hi
01. ST S 02. FEAY,
03. T T 04. IWRI gt
05. 99 § BIg TR1
Solution for Question 192 Ans Key: 1
dialog box
S Sl
Q-193  To delete and embed an object, first
01. Double click the object 02. Select the object by clicking it
03. Press the Shift + Delete keys 04. Select it and then press Delete key
05. None of these
Q-193 TP 3ffoiae HI geM R THSS A & o, Tea-
01. 3ffsolde TR Sod foTes 02. fdd IR Siisoide &1 IgH PR
03. Shift+ Delete B0l GaR 04. T T I R R f3cite Foft gand
05. 79§ Bl 5!
Solution for Question 193 Ans Key: 4

To delete and embed an object, first select it and then press delete key.

3ffsoiae Bl geH R WSS FRA & A8, Ted 38 I I3 3R O Sl FHoil Gald |

Q-194 Which language does MS-Word use to create Macros?
eng
01. Visual C++ 02. FoxPro
03. Access 04. Visual Basic
05. None of these
Q-194 & T YTV THUY G Heh! §TH I foTT SUNT el 52
hi
01. fagar c++ 02. Wieaw
03. TR 04. fagere 9y
05. T8 4 Pl A8
Q-195 The communication mode that supports two-way traffic but only one direction at a time, it is ------- .
eng

Q-195

01. Simplex 02. half duplex
03. duplex 04. multiplex

05. All of the above
TH SRS H1EH S U 999 8 ¢ 3 St Afdr dadt U g1 o= & 994 FRa1 g a8 ----- gl 5



01. ey 02. Bl Wi
03. IR 04. HeeTRioRd
05. JWRIed Fit
Solution for Question 195 Ans Key: 2
eng The communication mode that supports two-way traffic but only one direction at a time is known as half duplex.
hi Teh HR[eh T HIH Wil b AU H ¢ d Sfthep Alfcb shac Teb Bl G H JHUT 1 B, BT GrI Hgelai g |
Q-196 was the first network.
eng
01. CSNET 02. NSFNET
03. ANSNET 04. RPANET
05. None of these
Q-196  ---------- Ugdl “ead T
hi
01. CSNET 02. NSFNET
03. ANSNET 04. ARPANET
05. 390 q PIs T8l
Solution for Question 196 Ans Key: 4
ARPANET was the first network.
ARPANET UG dd T
Q-197 How can you make the selected character superscripted?
01. Alt+ Ctrl + Shift += 02. Ctrl + Shift ++
03. Cul+= 04. Ctrl + Shift+=
05. None of these
Q-197 A 31U TG HIgR P! GURIBHY HR Tobd 82
01. Alt+ Ctrl + Shift+= 02. Ctrl+ Shift++
03. Ctrl+= 04. Ctrl + Shift +=
05. 39 I BIS g
Solution for Question 197 Ans Key: 4
Ctrl + Shift + = make the selected character superscripted.
Ctrl + Shift + = T PR B JURISHY HRAT G |
Q-198 A proxy server is used for performing which of the following task?
eng
01. To provide security against unauthorized ~ 02. To process client requests for web pages
users
03. To process client requests for database 04. To provide TCP/IP
access
05. None of these
Q-198 Wit Rk Froferfaa o 3 forg wrf & Ture % fow v fsar smar 82
hi
01. 3T ITATTHAlS ¥ REM UG 02. 39 U & fo UTgah SRIUT 1 Uiy HRA & g
B P g
03. 3299 P IUTIT & Ty UTeeh SrRIet 04 FRAGHSMER yeH oA & fow
B UEE B & fow
05. 3TH ¥ P TG
Solution for Question 198 Ans Key: 1

eng

A proxy server is used to provide security against unauthorized users’ task.

hi
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Q-199 AM)..coconnnnnnn. contains commands that can be selected.
eng

01. Pointer 02. Menu
03. Icon 04. Button
05. None of these
(05 ('L J— # HHS BId § e Aciae foba o bl 5|
hi
01. WieeR 02. T
03. 3TSHIT 04. §geq
05. 375 q HIs T8
Solution for Question 199 Ans Key: 2
eng A(n) menu contains commands that can be selected.
hi T PHIS Bl IWd1 & o Helde fhaT STar g |
Q-200 Inacomputer,_is capable to store single binary bit.
eng
01. Register 02. Flip flop
03. Inductor 04. Capacitor
05. None of these
Q-200 TH FHRH - R a1z foe WR o3 & g wem 81
hi
01. IR 02. fOeTy wrTg
03. TB/aR 04. HURFR
05. 379 ¥ BIs g
Solution for Question 200 Ans Key: 2

eng In a computer, flip flop is capable to store single binary bit.

hi TP HCX B Gy Tary R S8R foe R B & g 9eH g |



